oottt odbobodogt
Joodoodoooogoogod

OO le6e0d

oo
0o

googogn






L] [

010
1.1
1.2
1.3
1.4
1.5

1.6

020
2.1
2.2

2.3

2.4

2.5

2.6

030

HRN

OOOO .o e
OO0OO0O0 ..o e e e
I
I
0000000000 ..o e e
151 OO0O0OD0O000O0ODO0O00O0O0 ..o
152 O000000D00D0ODODODODO0O0D0O0O ...
153 O0O00D00OD0ODODODODOO ..
OOOO0 ..o e e e e

goooooogobooooo

OOOO o e e e
U0000000000D00000 .00 n o
221 OO0OO00OD0 .. e e e e e s e e s s
222 0O000O0O0O0O0OO0OO0O0O0O0O0O ... oot
223 0UO0ODOUOODOODOOOOOODOOO ..o i e
224 0DO000D00ODODODOO0OO0O0O ... e
0
231 OOOOOO0OOD0 ..o e e e e e e e e s e e
232 0OOO0O0OOD0OO0OODODO ... s s
233 0D000D0O0D0OD0ODOO0OO0OO0O0O ... ii .
UO0000000000 .0 e e
241 OUOOQOOODOOODO ... s s s e
242 000000000000 ... e
OO0D0000000000 .. .00 e e e e e e
251 OOOOOOOO0OO0OO0OO ..t e e e e
252 0OUOO0OODOOODODOOO0O .. e e
253 0DO000D0O0ODODODO0OO00O0 ..ottt
254 0O0O0O0O0O0O0ODOO0O0O0O ...t e e e
O200000 . . o 000 e e e e e s

gobooobooooooooo

N O O R RN N ==

11
11
11
11
12
12
13
14
15
16
17
18
18
18
19
19
20
21
23
24

25



ii 0o
3.1 OOOO o e e e 25
3.2 0 25

321 000D0O0DO0ODODODOODOOO0O ..o s 25
3.22 U00O0ODOO0ODODODODOODOOOO ..o d e 27
3.3 0 28
3.3.1 O0000OD0D0 ... e s e 28
332 0D000O0ODOODOODOODOOOODOODOODOOODODOOODOoDoOonO @. ... .. 29
333 0OD0O0OO00oOOoOoooOoooooooooooboooooooooon ... 34
3.4 OO00O000O0 ..o e e 35
341 0000000000 .. 36
342 0000000000 ... e e e e s e 36
3.5 I 39
3.51 O000D000D0O0OO0O00 ... e 39
3.6 O300000 . . 0 00 o e e e e e e e 44
040 gboooboobobgoboooboobbogn 45
4.1 OOO0 . e e e e e e 45
4.2 U0D00000000000 . 00000 e e e 45
421 O0000OO0OD0OQOO0O0OODOOO0O0O ... oot 45
422 00000000O0000ODO0OO0O0O ... oo e r e 48
4.3 0000000000 0000 .. 00000 e e 49
4.3.1 0000000 . . e s s e 49
432 0O0O0OO00OOOOOOOOODOOOOOOODOODOOOODOOO ... 49
433 0O00OO0O0OOOOOOOODOOOOOOODOObDOOODOOOnO @ o3
4.4 I 54
441 O0000D0D0OOO0O0OODOOO0O0O ...t o4
442 00000000O000O0ODO0OO0O0O ... oo o6
4.5 O0D0000000000000 .0 0000ttt e e e o7
4.5.1 0000000 . . e e e e 57
452 0O0O0O0OO0OOOOOOOODOOOODOOODOODOOODOOOO @ ... o7
453 0O00OO0OO0OOOOOOOOOOOOOOODOObDOOODOOO @ ... 61
4.6 OO0D0000000000 .. .00 e e e e e e 62
4.6.1 0000000 ... s s e s 62
4.6.2 0000000000 ... e e e s e 64
4.6.3 0000000000 .. e e s e e e s 64
4.7 I 1 75
471 0000000 .. e e e s e 75
472 00000000 . e s s e 75
4.8 0400000 . . o 000 e e e e e e 81
050 coooooboobooooooboobooooboooobo 83



0o iii
5.1 OOOO o e e e 83
5.2 0 83

5.2.1 DOOD0ODODODOD0OD0OD0O00O00O0 ... ... 83
5.2.2 0OUO0O0ODOODOOD0OOOOO0OO0OO0OO0O0O0 ... ... 86
.23 00000O0DDOOOOOOOOOOODDODO ... .. . ... 86
524 0OUO0ODOUOODOODOOOOOODOODODO ... oo 88
5.3 0 88
5.4 UO0000000000 .0 e e 90
541 OUOOOOODO ..o e e s s s 90
542 0O0O0OOOODOOOOOOOOOODOOODOObOOOODOOO @ ... 91
543 000O0OO0O0ODOOODODOOOOOODOOOOOOOOOOOOOO ... ... . 102
5.5 0000000000 ..o e e 104
5.0.1 OOODOOODO . .o e s s e 104
5.0.2 0000DO0ODODODODOODOODOOOOOOOOOOOoOOO ... ... 104
5.0.3 ODO0OO0OO0OOOOODOODOODOODOODOOoDOOoOOobOOooOOoO ... 112
5.6 U000000000000D00O0 .00 00000 e e e 115
5.6.1 OOODOOODOOODO ..o e e s 115
5.6.2 OO0O0OD0OD0O .. .0 ot e e e e 125
5.7 OOOO0OD0O ..o e 128
5.7.1 ClarckODOO0DOOOOOOOOOOOO ... it 128
0.72 OOOOOODO . .o s 128
5.7.3 OOO0OO0DODDOOCDODOOOO ..ot 129
5.8 Oo00000 . . o o o e e e s e 131

060 boboboboboboboboboobon 133
6.1 OOOO o e 133
6.2 UO0OO0O0 ..o e e e 133

6.2.1 00O0DO0ODO0ODODODOODOOO0O ...t 133
6.22 U00OU0ODOODODODOODOOOOOO .. i s s 135
6.3 0 136
6.3.1 O0O0OOOD0ODO ... e e 136
6.3.2 0O0O0OO0OO0OOOOOOOODOOOOOOODOObOOOODOOoOnD @ 137
6.3.3 OD0OO0OO0OO0OOOOOOOOOOOoOOOoOooOoobooOooooonO ... 140
6.4 0 144
6.4.1 O0O000D00DO0ODO . o0 e e s e e s 144
6.42 0000000000 ... e e e e e e 145
6.5 O600000 .. . 150

o700 gobooboooooooobooooo 151
7.1 OOOO o e e e e 151
7.2 OOO0O0O0 .o s 151



iv 0o
7.3 I 0 153
7.3.1 20000000 . . 00t 153

7.3.2 00000000 .. .. e e e e s e e s e e s 159

733 0000D000D0DO0ODOO0ODODOO0O0O0O .« ... 159

734 0000000D0DO0O0DOO0OO0DOO0O0O0O .v.. ... oo, 160

7.3.5 OO0O0O0ODO0 .. e e s s s 165

7.4 I 0 165
7.5 I 0 166
7.5.1 O000I0DO0OIIOOOOO00O0 ... e e e e e e 167

752 0001I00000O0O0000000 .. ... 167

753 000 MIOOD00D0O0O00O0O00O0O0 ...ttt 172

7.6 00000000 . .. o e e e e e e e e e e e e e s e e 177
7.6.1 O00O0I0OO0OO0O0O0O0O ... e e e e e e e e e 177

762 000000000000 .. . v e e e e e e e e 177

7.6.3 00000000000 . o0 v s s s s s e e e e 178

7.7 O700000 . . 0 0 0 e e e e e e e e 183
080 goooooon 185
8.1 I 0 185
8.2 000000000 + .00 e e e e e e e e e e e e e e e 186
oo A goodooooooooooooo 189
Al I I I 1 189
A2 00000000000 0000000 .. .. 00 e e et e e e e e e e 194



HRERN

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9
2.10
2.11
2.12
2.13

2.14
2.15

3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8
3.9
3.10
3.11
3.12
3.13
3.14
3.15

00200000000, .« . ot e e e
0000 DOOOOO. oot oo e e e e e
00000000 © o oot ot e e e e e e e
0000000000 .« .« oot e e e e e e
0000000000000000000. .+« « vt it e e e e
0000000000 .+« o ot et e e e e e e
00000000000000000. .+« « oot eeeeeeee
0000000000000000000 &+ .+« o ettt
00000000¢000000000000 fO0 .« .o v oo ..
00000000000000. .« © « 0 vt e e e e e e e e
00 POOOOOOOOO00000. .« ottt e e
00000000 ¢P,@) OO0, « v vt
000000000000000000000000000() 0000000 (b) O
o
00 POOODOOOOOOOOOOOODO() 0000000 (b)000000O0

000000000000000000000000. .+« + vt vt e v oot

002200000000, . oottt e e
00 POODOOO0OOOOOODOO000000000. « ..ot
000000 (#1,22) 0000000, « o 0o vt et e e e
000 go(2) D000+« o ot et e e e e e e e
000 go(2) 00000 po(z,t) D00, .. oot
00 POODOOOOOOOO000 000000, .« . 0ot ..
00000000000000 ¢g(2u)d oo
00 POODOO0OOO w0000000000 & ..o ot o et
00 POODOO0OO «00000000000 .+ .« . oot
00 POODOOOO¢t0POO0Q,0000000«0000000........
000000000 pg(zt) 000000000000 . oo oot o e e e ...
000000000 py(zt) 000000000000 ..« oo oot oo ...
0000000 py(z,t) 0000000000000 .« .+« v v oo v et oo
0000000 py(z,t) 000000000000 .+ .+« v v v o v oo e e
00000040000000000000 & . .« ot oo e



vi

agon

3.16
3.17
3.18
3.19
3.20

4.1
4.2
4.3
4.4
4.5
4.6
4.7
4.8
4.9
4.10
4.11

4.12
4.13
4.14
4.15
4.16
4.17
4.18

4.19

4.20
4.21

4.22
4.23

4.24

4.25
4.26

000000000 pg(zt) 0000000 .« . o 0ot e e 40
000000000 pg(zt) 0000000 .« . ot v e v e e 40
0000000 pu(z,t) 0000000 .« . . oot i it e 41
0000000 py(z,t) 000020000000000 .+« o oo e o v e ... 43
0000000 py(st) 000000020000000000 .+ ... .. ...... 43
00000000 ¢P,@) 000, .« o\t i e 45
Holroyd 0 Millar 000 00000000 ¢(P,)0000. .. .. ... ..... 46
00000000, © oot e e A7
000000000 00000000 ¢P,e)0000. .« . oo oot 48
00 DO0OO ¢000000000000000. .« .« v\t oot e 50
00000000000000 ¢(&EP@u)d - oo oo 50
00 PO0DOOO0OOwO0000000000 & ..« ottt 51
00 PO0DOO0OOO «00000000000 .« .« .ot 51
00 POODOOOO¢t0POO0Q,0000000«0000000........ 52
00000000000000000 00000000 ¢P,9)0000. .. ... 54
00000000 ¢(P,e)0000() PO DOOOOOOOOO((b) PO DOOO

OO0O0O000  © ot e e e e e e e e e 56
00000 0000000000000 .+« .« ot vt v e e e 56
00 DOOO ¢0D000000000000000 .+ .+ .+« oot et e e 58
00 POODOOO0OO «00000000000 .+ .« . oo v .. 59
00 POODOOOO¢t0POO0Q,0000000«0000000........ 59
0000000300000000()00;(b)000;(¢)0000000000 .. 62
000000000000() ¢=000000000 ¢(P,¢); (b)000 ¢o(P)D . 63
000000000 00000000 ¢P,¢)0(a) e=0000;(b) p==/400

1 63
000000000000000 00000000 ¢(P,¢)0(a)¢=0000; (b)

e=m/A0000 . . .ot 63
000 ¢o(P)0(a) D00000;(b) 0000000000000 .. ... ..... 64
00000000 ¢=0000000000 p(P,t,9)000000000 [2,3]00

e R 65
000000000000 ps(P,t)000000000 [2,3]00000000M0 .. 66
00000000 ¢=0000000000 p(P,t,9)000000000 [2,3]00

] 67
00000000 ¢=x/4000000000 p(P,t,¢)000000000 [2,3]0

e R 683
000000000000 py(P,t)000000000 [2,3]00000000M .. 69
0000000000000 ¢=0000000000 p(P,t,9)000000000

2,3] 0000000000 .« v v vt e e e e e 70



gono

vii

4.27

4.28

4.29
4.30
4.31
4.32
4.33
4.34

4.35
4.36
4.37
4.38

5.1
5.2

5.3
5.4

9.5

5.6

5.7

5.8

5.9

5.10

5.11

5.12
5.13

5.14
5.15
5.16

0000000000000 o=7x/4000000000 p(P,t,9)00000000
0(2,30000000000 « .« «© ot et e e e e e e e
00000000000000000 py(P,t)000000000 [2,3]000000
A
30000000000000000000 .+« + « v vttt e
000000000000 pg(P,t)0000000 .« ot vt oo et
00000000000 py(P,) 0000000 .« oot oot
00000000000000000 po(P,t)0000000 .« .. .. ..o ..
000000000 2300000000 .+« © o vt o e e e e
000000000000000 ¢(P)00000()000() 0000(c)0000
(A) 230000 . . oo o e
0000000000 ps(P,¢) 000000000 [2,3]00000000
00000000000 py(P,t) 000000000 [2,3]00000000@
00000000000 py(P,t) 000000000 [2,3]00000000
0023000000000 po(P,4)000000000 [2,3]00000000

0000000000000000000000000000000 ... ... ...
00 POOODOOOD LO0OODO0O0OD00000000000000000C
0000000() 0000000000000 (b)000000000000.
0000000000000000000000000000000 ... ......
00 POOO0OOOO COOOO00O0O0O0O0000O0O0O0000000000000
0O0() 00000000 (b)0000000. « ..ot oot
00000000000(G) 0000 (b)000. .. ...,
00000000000() 0000 (b)000. ...ttt ..
000000000000000000() 0000 (b)00O0. ... ........
00 POOO0OOOO0wDO000O() 2z=0; (b) 2

z2=0.6R;(e) 2=08R; (f) z=R. . .. ... . .. ...
00 POOOO0OOOOOOO0O0O0O0O0O00000000POO0O0O000 u
0000000000<z<20000 ... .....................
00 POOODOOOOOOOO0O0O0O000O000000POO0O00000w
0000000002 <2<ROOO0OMM ... ... ... ...
00 POOODOOOO¢t0PO0Q,0000000w00000@Ma=0.6R/v,z=
02RODDOM .« ..ot
0000000000000000000000000000000000 ¢2000
00 POOOO0OOOOOODO0O00O00000000000POO0O0O00000 u
O00000000 .« ottt e et e e e e
00 POOD0OOO0OO¢0POO0Q,0000000w0000000........
0000000000000000e2z000 ... ... ... ... ... ...,
00 POOOOOOD0O0O0ODO0OO0O0O0000000000000000 POOOCO
0000000000000 .« ...



viii

agon

5.17

5.18
5.19

5.20
5.21
5.22
5.23
5.24
5.25
5.26
5.27
5.28
5.29
5.30
5.31
5.32
5.33
5.34
5.3
5.36
5.37
5.38
5.39
5.40
5.41
5.42
5.43
5.44
5.45

6.1
6.2

6.3

6.4

6.5
6.6

00 POODODOODOOtOPOOQ, 000000000000 a=12R/v,z=

0ARTOODOM . .o e e e e e e s e e 108
gobooboooboooboobobooboboobobooob e-z000 @000 0000 108
00 pPO0OODOOOOODODOOOOOOOODOOOODOO PODOODOODOO

vOO00000000 .00 0o s s o 110
oopPOOOODOOO(OPOO Q0000000 w0000000........ 112
I I 2 113
OUooU0oooOd py(P, ) 00000t =20000000000 .+ . ... .. 116
O0ooU0oooOd pp(P, ) 00000, =20000000000 .+ .. ..ot 116
00000000 pg(P,)00D00O0ODOOOD [2,3|0000000DOOD .. ... .. 117
0000ooooopg(P,)0000O0DOOOD 23000000000 .. ... .. 118
000000o0oO0oOoo pop(P,t) 00000ty =20000000000 . ... 118
00o00o0oooOooOo pop(Pyt) 00000ty =20000000000 . ... 119
0000000000000 ppg(P,y)000000O0ODO [2,3]000000000 119
goboooooooboogod p D(P,t)DDDDDDDDD[2,3]DDDDDDDDD] 120
O000000o0oO0ooOoo pop(P,t) 00000t =20000000000 . ... 120
00000o0oO0oOooOo pop(P,y) 00000t =20000000000 . ... 120
0000000oo0ooOoo ppg(P,y)D0000O0O0ODOO [2,3]000000000 121
0000000000000 pap(P,t) 000000000 [2,3|]000000000O0 121

000000000000000 py(P,¢)00000t=2000000000 ... 122
000000000000000 py(P,¢)00000¢%=2000000000 ... 123
000000000000000 ps(P,t)000000000 [2,3]000000000123
000000000000000 ps(P,t)000000000 [2,3)00000000( 124
00000000 po(P,) 0000000 .« .« o v vt v e e 126
0000000000000 pop(P,t) 0000000 « ..« oo oot 126
0000000000000 pog(P,t) 0000000 « .. oo oot ot ... 127
000000000000000 pu(P,)0000000 .« . ..ot oo ... 127
Clack 000000000  + . oot e e e e e e e e 129
00000000000 0D000MG) 0000 « . ..ot 130
00000000000 D000M)O0000 .« . ..o 130
000000000000000000() 0000(M)0000 ... ........ 130
000000000000000000000000. .+« « oot et o ... 134
00 POODOOO LOOODO0O0O0O0O0O0D0000O00000000000(a) L0

0000000000000000()L00000000000000000 . ... 135
0000D0000() 00000000000(b)00000000000() 0000

OO0O0O000  © ot e e e e e e e e e 136
O0POODOO0OO0O00. © o o vt et e e e e e e 138
00 POO0DOOO0OO wO00000000. ..ot 138
000000000000000000000 (a)l,<L 0000 (b)l;<lL,0000 139



000 ix
67 OO0 PODDO0OO0O0O0 «O00000000. ..ot 140
68 00 POODOO00OO [uu+Au 00000000, ...t 141
6.9 00000000 py(P,t)00000¢,=2000000000 .. ......... 145
610 00000000 py(P,t)000000000 [2,3]000000000 ... .... 146
611 00000000000 py(P,t)00000¢=2000000000 . ...... 147
612 00000000000 py(P,t)000000000 [2,3)000000000 ... 148
6.13 0 61400 6150000 40000000 .+« .« o v v e i 148
614 00000000 pg(P,) 0000000 .« « oot v oo 149
6.15 0000000 pu(z,t) 0000000 . o« oot v e e e e 149
71 000000000000000000000. « .+« v vt e e 151
72 (1) 000000000000000 (0000000000 (b)00000D0000. 152
73 200000000 )000I0M)O00IL .. ..ot 153
74 0001000000000000000()PeL, 0000((M)PeROOOO(C)

PeLy,OOOO . o . oot 154
75 0 74000000000000000(G)PeL, 0000((M)PeROOOO()
Pel,OO00 . o . oot 155
7.6 000100000000, . o 0ot o e e e 155
77 D00NOPe,00000000000()O0000000000(M) 00000
o 157
78 000 NOPeR 00000000000 0000000000() 00000
OO0O0O000  © ot e e e e e e e e 157
79 0D00NOPelL, 00000000000 0000000000 00000
OO0O0000  © ot e e e e e e 158
710 000 1000000000 () R,000() RO R, 0000 .. ... ...... 158
711 0000000000 () 00 10000() 0020000 «. . ... .. ... 159
712 0000000000 LOOOOO0O0OOOO ROOOOOO. .« ... .. ... ... 160
713 000000040000000. © . . o o vt it 161
704 0000 100, . oot e 162
705 0000 200, © oot oo e e e e e 162
716 000030000 <l 0000, « oot 163
707 0000 400, . o oo 164
7A8 OOOO 500, © oot oo e e e e e e 164
719 000000000, . oottt e e e e e e 166
720 () 00000000000000 (b)000000 ¢o(z)0000. ... ... ... 166
721 00 POOOODOO0O0w000000000O()PelL, 0000()PeRODO
00 PELoOOO0 oot vt et 168
722 00 POOOOOOD t+0 POO Q,0000000wD0000000Pe ;00
OO« oo o e e e e e 168
723 00 POO0OOOOO+¢0PO0Q,0000000«w0000000P e ROOOM 169



agon

724 00 POOOOOOOD ¢t+0 POO Q,0000000w0000000P€L,00
OO« o v e e e e e e e
725 00 POODODO0OOOO«0000000000P€L, 0000 .. ........
726 00 POODOO0O0OO0OO0 «00000000000PeL, 0000 ... ......
727 00 POOOOOOOD +0 POO Q, 0000000 w0000000PeL,00
OO0 .« o e e e e e e e e
728 00 POOOOOOO¢0POO0Q, 0000000 «0000000P€R, 00
OO« o e e e e e e e
729 00 POOOOOOD t+0 POOD Q, 0000000 w0000000PeL,00
]
730 000 I100000000000000 [2,3]000000000 ... ........
731 000 0000000000000 0000000000000000000000
2,3]000000000 © o v vt e e e e e
732 000 I00000000000000 [2,3]000000000 .. .. ......
733 0 7.20 (2) 00 0000000000000 pa(z,t) 000000000 [2,3]000
e
734 0 7.3600000000000000040000000 ... ... ...
735 0 7.36000000040000000000000 .« .. .ot oot oo ...
736 0 7.20 (a) 00 0000000000000 py(zt)0000000 ... ......

Al ODODOOODOO00O0OODOOOOOOO0000D0ODO0O0ODOO0O0000000 a2000
A2 00000000000 000000000000000 a-z000 ... ... ....



xi

HRERN

1.1

5.1
5.2

6.1

7.1
7.2
7.3
7.4
7.5
7.6
7.7
7.8

O0D0000000D0000000000 00000t e e 2
05120 a2z 00000000000000O0D000O0O + .o oo o oo oo oo 98
05180 ¢z 000000000 0OODOOODDOO0O o000 oo o oo 109
0660000000000000000 ..o i i 139
gbobooobogooboobboobbooboonDog oo oo 160
00000000 00oooooD40000000000000 + .« - o oo oo 161
O00o0o 100 0000000 1O L,ODODODODODOOOOOODOO & ... ... 161
0000 2000000000000 71500003 .« .. 0o oo o oo oo 162
00003000000000000 716 (2)00000 .+ .. v v vt 163
00003000000000000 716 (M) 00O .+ ..o v v et n .. 163
O0004000000000000 71700000 « .00 0o v oo oo e 164
0000 S0000000D00000 7180000 « .o oo oo oo oo 165






010 oO0

1.1 DOO0OO

gobogobooboobooobooobooobuogoboobbuooobooboobooooboo
goobooobooobooobooobooobooobooboboooboobDbooobooo
goboobooooboobobooboooboobobooboo

12 O00O0O0O0OO

oooboooooobobobooooobobbooooooboboooobDbboboooogoooboobo
goobooobooboooooboobobooobooobooboboooboobboooboon
goooboboooooooooboooooooooboog@mogoooboboboooobbbooooon
gbobooobuogboboobbogbooboobobodobooboobbuoooboobbuoobboob
goobooobooboboooboobobooobooobooboboooboobobooobooo
goodooooooooboboobooboobooobooboobobobobbbobobooobobobobobobbbobobobobobbobon
gobogoboogobooooog

gbobobobobooooooooboobobobobooooooooboobobobobo
goobooboboobboooboobobooobooobooboboooboobboooboon
gooboooboobooooboobobooobooooboobboooboobbooboboon
gobooobuoobobooobbogboboobbuoobooboobbuogoboobboobboon
goboobbooobboooboooboobobooobooo

0000000 Trafic Studies0 000000000 Smeed 001960000000 7000000
000000000000000000000000000000000000 Smeed (1963) 0000
gbobooobuooboboobbuoobboobobuoobooboobbuoooboobbuooboboob
00000000 travel intensity D0 00 00000 Smeed (1963) O travel intensity O O Holroyd,
Pearce, Vaughan 0 0 00 0000000000000 00O0OODODOOOOOOOOOOOOOOOO
000000000000 travel intensity 000 0000000000000 OCOO0OOOOOOO
gbobobobobobobobooboobooooon

goobooobooobooobooboboooboooboobobooobbooboboooboo
gobooobooboboooobooboboooboooboooboooboobbooboboon
000000000000000D00000 SmeedD Vaughan 0000000000 OCO0OOOOO
gooboooboobobooobooobooobooobooboboooboobobooobooo
gooboooboobobooboboobbooobooobooboboooboobbooboboon
gooboooboobobooobboobbooboboooboobboooboobbuoobboon
0000000000000 0000D0000000O0D0O00O0DO0O0OD0O0D (20000000



0o1g oo

goobooobooboobooobboobboobobooboboobobuoooboobbooboboon
gobgdbbgobooobuoobbuoobboobooobooboboobn
oooboooboooboooboooboooboooboooDboooboooboooboo
goobooobooboobooooboobobooobooobooboboooboobDboooboon
goobooobooboobuoooboobobooboboooboobobuoooboobboobboon
gbobooobuogboboobbuogbboobbuodbooboobbuoooboobboobboob
0 0 Dantzig and Saaty, 19730 0 0 00 0000000000000 0O00OOOOOOOOO0OOO
goobooboboooboooboooboobboooboooboobbooboon

13 DO00O0OO00bOooboooboooooo

ggoooooooobobbobobobbobbbboduogooouooa

Smeed (1963) O travel intensity 0 O Holroyd and Millar (1966) 000 00000000000
00000000 flowdensity 000000 OOSmeed O travel intensity 0 Holroyd O Millar O
flow density O O Pearce, Vaughan 0 0 000000000000 O0OD0OOCO0OOOODOOCOOOOOO
ddodoooooooooobbboboboboobboboobooon

0000000000000 0000000000000Oflowdensity 0000000000000
oo oooobobobobobbobobooobobobboboboobooooooog
oo boooobobobbobobobobobobobboobobobobooon
0oobobOob 1100000000 bobooDooDooOobDooobO0ob0obOobOoDOoDOooDOon
000000oo0oooooDbOo0obOo0obOooooboDoooooooo le0bOoOoooOO

011 0O000O0OO0000O0oooo0o0oooo

goood googogo good
30 godd gogd 00 (1992)
40 || 00DDOOOO |O0D0OO Holroyd and Miller (1966), 00000 (1999a)
o0 goodd 0000000 | Vaughan (1987)
60 || D000 oooo Holroyd (1968), Vaughan (1987)
70 ggoooo |ooboo 0oooog (2000)

coooooooobobobooooooooboDbDbObOobOoDbDOobOOobOoD4b000DOD
0000 (2004a) D00 5000000000000 (2003) 000 60000000 Tanaka and
Kurita (2003) 000000

14 DO0OO0OOOOOO

gobogobooobooobuoooboobobuoooboobobuooobooboobooooboo
goboobobooobooobooboboobooobooboboobbOooboobDboobobOon
ooy ooU o
O0000000Ocontinuous models0 0 0000000000000 ODO0OOODOOOOOOOOO



1.4 000000000

ggd
oooooboooomooooooboboooooooobooooobooooooooboo
oo ooooooooobobobobooobobobObobooboooooooog
O 00 location theoryd O 0 0 O 0O OO economic geographyDO O OO0 0000000000 OCOODOO
0 00 O Von Thiinen (1826), Weber (1909), Hotelling (1921), Christaller (1933), Losch (1940) O
gogooooon
0000000000000 oo oDooooobooboooo
gooooboboooobooobooob bbb b oobboob0boobboooo
ggobobbodooooobbobuoooooobbbbbooooobobbbooooobbbbuoo
Beckmann, Wardrop D00 Smeed D0 OO OO0
00000000000 00000000 Beckmann OOOOODOOOODOOODOOODOOOOOO
000000000000 Beckmann, 1952000 Beckmann (1952) 00 000000000000 0O0O
00000000000000000000000000000000*0
0000000000000 ooo00oooooooonDOgodnWardrop, 195200000
Wardrop D0 00000000000 ODOODOODOOOODOODOOOODOOOOWardrop, 196911
oo obobobobobobobobobobobobobbboboobooboobooobooon
0000000000000 000o00oo000o00oo000o00dSmeedd0O0O0OO0OOCOOO
00 Traffic Studies 0000000000 Smeed 001960000000 7000000000000
000000000000 00000000000D0O0OSmeed, 1963; 1968; 1977010 Smeed 000 0O 0O
Holroyd, Pearce, Vaughan 00 00 0000000001970 0000 1980 0000000000
O0000000000Smeed 000000Smeed 1000000000000 0000O0O0D0DO0O*
O Smeed, 1977, p. 91

Before examining the detail, however, it may be worthwhile commenting on the general approach.
It is sometimes argued that an idealized distribution of origins and destinations cannot represent the
situation in areal town and that any traffic patterns deduced from such assumptions cannot represent
the situation in areal town. Insofar as exact correlation between model and actuality are concerned,
this must be agreed. But in practice we usually only need a model that represents the real situation
sufficiently well to make it possible to draw conclusions for policy-making. For this, idealized
distributions may often be sufficient and may even have advantages over the actual ones. With such
distributions, it is usually easier to visualize the assumptions, the results and the effect of changesin
the variablesinvolved. It istherefore often easier to visualize the relevance of the conclusions drawn
to actual problems.

goboooboobooobboobboobobuoooboobbuoooboobboobboon
gboobobobooobooooooooobobobobooooooobobobobOoboobooooon
gooboooboobooboooboobobooobooobooboboooboobDboooboon
gobooboogobobooooooooboboobboooooobboooob™obobbbooooon
gobooobuooboboobbogbboobobuoooboobbuoooboobboobboon
goooooo

*1 Beckmann (1952) 000000 Puu (2003) 00000000000000000
*2000000 Vaughan (1987) 0000000000



0o1g oo

Vaughan (1987) 00Smeed 00 000000000000 0DO0OOOOOOOOOOOOODOOO
O00000oo00ogooO0VaughanOOSmeed 000 00000000000 OO0ODOODOOOODO
0000 Urban Spatial Traffic Patterns0 000 Vaughan 000000000000 0O0OODO
000000000000000000000000000000000000000000000
goobooobooboobooobooboboobobooooboobobuoooboobboobboon
gbobooobuogbboobbogboboobbuodbooboobbuoooboobboobboob
goobooboboobbooboboooboobboobooobooboboobooo

goobogoobooooboooboooboooboooboobbooobooboboooboo
Angel and Hyman (1976) 0000000 Urban FieldsODOO00OO000000000000OO

The numerical approach enables usto describe and analyze a greater structural variety of cites and
transportation systems than had been previously accommaodated in the earlier geometrical represen-
tation of space. However, the perceptions of general patterns and principles of the organization of
space in urban regions—the most important insights into earilier devel opments of regional science,
urban economics and regional geography—have become difficult to find in the cumbersome detail
of the numerical framework.

goooobooooboboooboobuoobooboobobbobobo™@WooobDoobobLDbOoo
gooboobobooobooobooobooboboobboooboobDboobDboobboobo
gooboooboooboooboooboooboooboobobooobboobobboooboo
goooobobooooobooobooooobooboooooooobobboooooboboboooooboobobogo
gobooobuogboboobbuogbboobbuodbooboobbuoooboobbuoobboob
goboobboobbooobooobooboboobooobooboboobDboobboOon
Langevin 000000000 DOOOOOOOOOOOOOODOOOOODOODOOUODOODODOOO
0000000000000 000000000000000000000 Langevin et al., 19961

15 O00ooOooooboog

goooobobboodiooooboobooboobooboobboooobbooboboobo
gobooobuoobobooobobogoboobobooooboobbuoooboobbooboboon
gbooboboboobooobooooooobobobobooooooobobobobobobooooo
goobooboboobboooboobobooobooobooboboooboobboooboon
goboooboobooboooboobobooobooobooboboooboobboobboon
gbobgobogoboobboobooobogn

151 O00OO0O0OOO0OOO0ObOoboOoOoDo

goobogoboooobooobooobooobooooboobobuooobooboobooooboo
0000 Smeed D00 OSmeed (1963) 000000000 D0O0ODO0OO0DOOODOOODOOODOO
000000000000 00000000000000Otravel intensity 000000000 Smeed

*¥ 0000000000000 0D00000000000000000000000000000000000oOgoog
googoo



1.5 0000O0ooooon

O travel intensity 00000 000000000000 O0O0O0ODOO00OO0OOO0OOODOOOOODOOO0O
0000000000000 000000O0000000O00O0DO00DO0DOUOODOOOOOO
travel intensity 0 00 0 0000000000000 O00ODOOO0O0OO0ODOOO0OOOOOOO0OOO
ooooooooooooobono

Horloyd and Miller (1966) O O Smeed (1963) O travel intensity 0 0 0000000000000
0000000000000000000flow density 00000000 0OHorloyd and Miller (1966)
00000000000 00000000000000000000 flowdensity 000000000
O000000000000oo00ooo2000000000000000 flow density 00000
gogd

Vaughan (1987) O O Urban Spatial Traffic Patterns00000000000000000000O
0000000000 travel intensity O flow density 0 000000000 Vaughan 0000000
oo oooooooboobobobbobobobobobobobbobobobobobobooon
oo ooobobobobbobbobobobobobobobobobobooboboooboobooog
do0oooooooooooooooooDobo0bDoOoobOoooDbooooOooo 40000 600
0000 Vaughan (1987) 00 0000000000000 0O0DO0OOOOOOOOOOOOOOOO
googda

000 Smeed 0000000000000 DDOOCOOOO0OO0OODOOOOOOOOOOOOO
0000000000000 000O0velocity ield0000000000000D00O0OOCOO0O0OO0O
oo oooooooobobobobobobobobobobobooobooooboooon
00 Wardrop, 1969; Angel and Hyman, 1976(0 OO0 00 00O O 0O OO Angel and Hyman (1976) O O
0oodoooooooooodooooodooooo0oooDpUoooDoo00ooDOo0PuweOO
Angel and Hyman (1976) D000 0O 00O O Smeed O travel intensity 00 000000000000
0000000000000000000000Puu, 1977, 1979000 (1983) 000000000
oo boboboobbobbobobobobobobobboobobobobooon
0000000000 oo oooooooooooooooo
oo ooooboboboobobobobooobobobbboobooooooog
oo oooobbobobobobobobobobobbobobobobobobooon
ggd

00000000 oooooooooooboboboboboobobobObObOoOoooOo0ooOoon
oo ooooboobobobbobobobobobobobboboboobooooooog
oo oooobobobobobobobobooboobobobobbboboobobobooboooog
oo ooooobobbobbbbobobobooooboboboobooooooog
0go0odooobooooooooboobbooooooob oo oo ooooboooo
020000000000000000000DO000O0O00O00OO0OOOOODOO, 1986, 00000,
20010

0000000000000O0 (1992)000000000000000O000O (1992) 000000
oo ooooboooobobobobobobobobobobobooobobooboooon
oo bobobobobboboboobobobobobobobobobooooboooog
gogboobboodoooouoobobooooobobbb oo bbbooooobbboUoo
00000000000000000000000, 1997; 1998; 1999a; 1999b; 200001



0o1g oo

goobogobogooobooobooobooobooobooobooobooobooooboo
00000 (1963) 0000000000000 00O0OUOODOO0OO0O0OOODOO0OOODOOODOO
goobooobooobooobooobooobooobooboboooboobobooobooo
00000000000000000000000000O0D0000000D0ODOoOOn (1976) 000
0000000000000 000000000000000DO0ODO0O0O0DO (199%) 00000
gbobooobuogbboobbogbboobobuodbooboobbuoooboobbuoobboob
ooobooooboboobbbooobbboooboboboooobboobobbooooDbboooo
gboobobooboboobooboboobog, 199%; 0b0,200lbgoooboooobooboobooooo
ooooog, 19, 0oogo,200looogoo0ooogoo0oboobooouoobooDo,
20010 000000DOO0bOoboOO

goobooobooobooobooboboooboooboobobooobbooboboooboo
oboobobob0obOobobobobooboooooooooon, 2002; 2003

152 O000O0O0O0OO0OOOO0DOOOOODbDOObOOn

goobooobogoooboooboooboooboooboobbooobooboboooboo
goobobboooboboobobooooboboooooboobboooobobbboooooobbobboogo
gbooboboboobooobooooooobobobobooooooobobobobobobooooo
O0000400000000000000000O0000O00O000O000, 199310

goooobooboobooobooboobooobbooobooboobooobomoo
gogbooboogooboobobogoobbbooooobobboooobbobooooobobbogo
00000 (1993) 0000000000000 0DLO0000DO0DO0ODO0O0DO0DO0DDOOOOODO
goobooobooboobooobooboboooboooboobobooobooboboooboon
gobooobooboobooobooboboobobooooboobobuoooboobboobboon
gooogn

00000000 (1999) 0000000000000 000D0O0D0O0DO0O0D0O0DO0DO0ODOOO
gooboooboobobooobooboboooboooboobbuoooboobbooboboon
goboooboobobooobboobobooboboooboobbuoooboobboobboon
gboobobobooboooooooooboboboobooooooobobobobOobobooooo
00000 (20000 00000000000000000D00O00DOOOOOO0OOODOOOOOOO
0000000000000 00000000000000 700000000000 (20000000
gbobgobogobboobboobooobogn

153 O00O0O00O0OOOO0ObOobooboOon

gooogobooooboooboooboooboooboobbuooobooooboooboo
gbooboboboobooobooooooobobobobooooooobobobobobobooooo
gooboooboobboooboboobboobobooobooboboooboobboobobooo
goboooooooboooboboooboooo

20000000000MSmeed 0000000000000 OO0DOODOODOOOO Pearce (1975)
O0000000000OPearce 0000000000000 0ODO0OOOOODOODOODOODOOOO



1.6 00000

00000000000 CO00DOO00O00bOO00DoO00oo0dOPearce0d00DOOOOOO
gobooobuoobobooobbogboboobbuoobooboobbuoooboobboobboon
gobooobboobbooobooobooboboobooobooboboobDbooboboOon
obobooolobobooobooboboboooboooooobobDooboboboooboob o
00000000000 Lighthill and Whitham (1955) 0 0000000000000 00O000OOO
gbobooobuogboboobbuogbboobobuodbooboobbuoooboobbuoobboob
0000000000000 00000O00Haberman (1998) 00000000000 ODOOODOO
0000000000000000D0 (2002) 000000000000
OO00000OOPearce000000O000DOOO0ODOOOOOODOOOODOOODOOUODOOODO
gbooboboboobooooooooobobobobooboooobobobobobobobooooo
gooboooboobobooobobooboboobobooboboobboooboobboobobooo
gooboooboobobooboboobobooobooobooboboooboobbooboboon
00000000000 (2004) 0000000000000 O0ODO0OO0OO0ODOODOODOOOOOOO
O0000ooooooooooooooo0oooo0moooooooooooo Oobooooo
gooboooboobooboooboobbooobooobooboboooboobbooboboon
gobooobuooboboooobooboboobobooooboobbuoooboobboobboon
gobgobogooboobbogboboooboobbooboooboobbooboon
00000000000000000000000Smeedd VaughanOOOOOOOOOOOOO
gooboooboobooboooboobboooboooboobboooboobbooboboon
gobooobuoobobooobobogboobooobooooboobbuoooboobboobboon
gbooboboboobooobooooooobobobobooboooobobobobobobobooooo
gooboboobobobOobOobobOobo0oboooDooO 3oobOooDOobDOooDOooDOoboOoooobooo
4000 500000 60000O0000O00LDOO0ODOUODOODODOODODDOOOOUOODOODOOO
gobooobdooboboobbuogbboobobuoobooboobbuoooboobboobboon
0000000000000D00 (20000 00000000000000000O00O0ODOOOODOO
gooboooboobooboooboobbooobooobooboboooboobbooboboon
goobooobooboobooobogboboobobooooboobobuoooboobboobboon
gbobgobbooboobobuoobpboobbooboo

16 DOOOO

goooOdbod0 l1oogoboOdooo 8oUboboUbUooDo 8uUboUoboUboboUUobDboUboboOooo
ocooooooooooooooboogoooooobooUoobbo0oooUoDbboob 20bb0groooOoDO
goooobbooboboooboooboo

020000
O2000000000000DO000O00DOOOOO0ODOOOOODOODOODODOODODO
Smeed 0 Horloyd DO O O0O0O00O0O00OVaughan OO D ODOO0O0OO0OOOOOOOOOOODOOO
0000000000000000(() 00000000 (()UUoO0000D0O0UOo0DooOoOooOM
(3 0000000000000 00O0U0O000DO00O0O0OU0OO0O0O0UDDOODO0ODOOOnOO



0o1g oo

00000000000000D000Vaughan (1987)0000000000000O0O0ODO 20000
Vaughan (1987) 00 0000000000000 0O0OO0O0OODOO0O0ODOOOOODOOOOOOO
J0b00boobobobobo

goooogoboooboooboooboooboooboobobooobboobobboooboo
oo o oo obbbbbobobbbbobbobn
gojodddoooooooooooobboobobbbbbbbbbbbbbbbbbbbbbobDD
goo

030000

0o30ooooboooooooooooooobooooooboobooooboobbOoooooo
gobobooooobooooloboooobooboboDOoobO0obDOobOUoobOobDOobooOobOooDOoo
gooboboboboboboboboboooooooooooobooboobobD 1ooooobooo
gobooobuoobobooobbogbboobobuooooboobbuoooboobbuoobboon
00000o0o00ob0ooDoooobOobDo0obo0obOoDo0oobOOoD1ODo0obOoDOobOoOoDbOoDODn
googon

0000100000000000000000000000OSmeed (1977) 00000 (1992) O
O000O0O0OSmeed (1977) 0000000000000 O0O0OODOOOOODOOOOOOOOOO
00000000Bristol00 0000000000000 000D00D00O00O0O00D0OOOO (1992)
gooboooboobooboooboobobooobooobooboboooboobDboooboon
goboooboogoobooooobao

oooboOoboooobooobOoobo 20000000000 OO0bObO 400000000600 DO
goobobobobobOobobobOoboOooooDooOooOoOoOoUoboUoboooo TOoooooo
goobobobobobobobobobooogoooooo 1obooooDooDooDoooooooo
gobgobogoboobbodgbbooboooboobbooboooboobboobobon

040000

4000000000000 0O0OOO0ODOODOOODOOOOOOOOOODOOODOOODOOO
bdbdoboboboobooooooboboboboobooooboobobobobogobooon
gboobobobobooboooooobobobobooboooooboobobobobooobooooon
gbobobobobooboooboooobobobobobooooobooboboboboobooooon
vtbdbdbdobobobobobobobooboboobooobobooboon

000000000D000000000000000Holroyd and Miller (1966) 00000000
0000000000000 000000000000000000flowdensity 0000000000
Holroyd and Miller (1966) 00 0000000000000 flow density 000000000000
bobdobobobooboboooooboboboboobooooboobobobobooboooon
OO0Pearce00000DODO0OCODODOO0O0000O0ODODOOOODOOOOO00OO0ODODDODDOOOODODOO
0000000000000 0000000000 Sherratt-Tanner 0000000000 O0O0O0ODO
flow density 00 0 0 OO0 Pearce, 19810 0000000000000 0O0OOO0OOOOOOOOO
vboboobodboobodbgoooboboobobooboboobooboboooboboooo
00, 1997; 1998; 1999a; 1999b; 20001]



1.6 00000

goobogobogooobooobooobooobooobooobooobooobooooboo
gobooobuoobobooobbogboboobbuoobooboobbuogoboobboobboon
goo00o0obOo0oooobOoobo0oo0obDo0obOoo0bOOooDOo0oDO0oObOoObOUObOobDOOD 230
gobooboooobooboboobboooboobobooboo

Os50000

Os0000000000000000000DO0DO0DO0DO0ODbOO0ODbDODbDODOOoDbDODOoDODOOd
goobooobooboobooobbooboboooboooboboobboooboobboobboon
0000000000000 00000 Vaughan, 1987, 00, 2001; DO00O00, 2003000000
0000000000000 OPearce, 1974, JO00O0O0O, 2003; 20040 0000000000000
000 000Hyman and Mayhew, 2000a; 2000b0 0 00000000000CC0O

gooboooboooboooboooboooboooobogobooobooobooooboo
0000000000 Vaughan (1987) 000000 Vaughan 000000000000 O0O0OOOO
oobooobooooboooboooboooboooboooDboooboobobooobooo
O00000000000000000000Smeed 0000000000000 O0O0OOOOOODO
goboooboogoboobboobooobogn

000000000000 (200)0000000000000O0O0ODO0OOOODOOOODOOOO
000000000000000000000000000000000000000000O0 (2003)
gooboooboobooboooboobobooobooobooboboooboobDboooboon
gobooobuoobobooobbogoobooobuooooboobbuoooboobbooboboon
0000000000000 000000DO0DO0O00O0O0OD (199%)00000000000000
0000000000000 0000000000D0000O0000O0DO00(l) 00000000
00000000000 00000((2) 0000000000000 0000000O0O00O0OOO
gooogoo

000000 Vaughan (1987) 00 0000000000000 O0DO0OO0OO0ODOOOOOOODOO
goobooobooboboooboobbooobooobooboboooboobbooboboon
gooodbbooboooobooobuoooboon

ogen0oon

060000000000 DODODDODDODOOOOOOOOOOOOOODODODODODODOO0000OOa
oo ooboobbobbobobobobobobobboobobobobobobooon
00000000000000000000000000000000000O00000000000O
Joooooooooobobobobobbbobbbo0doooooooo

godobobobooooouoobobooooobbboooooob b b ooooooobbooo
000o00b0ob0obOobOobO0obOO0bD 200000000000 0D0ODODOODOODOODOODOODO
0doooooooooooobobobobobbobobbobdddddoooooooooooo o

oo oooooobobobobobobobobobobobobobobooboooobooog
0000000 OHolroyd O Vaughan and Doyle 0 0 O O O OO Holroyd, 1968; Vaughan and Doyle,
1979; 1981; Vaughan, 19870 0 O O Holroyd (1968) DO 0000000 OD0OO0DOOODOOOOO
0000 200000000000000000000000000DOO00ODODO0OOOOODOO0O0



10 0o1g oo

000000000000000000000000

000000000000000000000000000000000000000000 (1993)C
Oyama (2000) 00 00000000000000000000000000000000000
0 (1999)0000 (2003) 00000000000 (2003)0000000000000000000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
0000

000000 Vaughan (1987) 0000000000000000000000000000000
000000000000000

Ov70000

O700000000O0OO0O0O0OO0O0OO00DOOO0OO0OU0ODOODOO0O0ODODODOOOOOOOn
goboooboobobooobbogbboobbodbboobbuoooboobboobboob
oooboooboooobooobooobooobooobooboboooboobobooobooo
gooboooboobooboooboobboooboooboobobuoooboobboobboon
00000000000 000000000000000000000000D00OCCavalier and Sherali,
980000000 oooooooooboo0oDoobo0ooDOoobDbboOobobOooDo
00000000000000000000000000000, 1996; Okabe and Okunuki, 20021J
goobooobooboboooboobbooobooobooboboooboobbooboboon
O00O0GISO0O00000000000000000DOOkabe et al., 1995; Okabe and Yamada,
20010

goobooobooobooobooboboooboooboobobooobbooboboooboo
gboobobobobobob 200b0b0b0b0obobobDoboDobLDooDooDooooobooo
oooooooooooooboooooo, 2000, 00000000, 20015 20033

0000000000000 000000DO00O000O00O (20000 0000000000000
0000000000000000 30000000000000000000O000 (20000000
goobooobuoobooboooboboooobooobooooboobobuoooboobbooboboon
gbboopobuoobboobbuoobboobbuoobooboobbuooboboobbuoobboob
oooon



11

020 0O000000O00o0ooooog

21 0O0O0OO

gooodoo 3booooogoooooooUobobooooUoboobo0oDboobbOobooooo
000000000 Vaughan (1987) 000000000000 DO0OO0O0ODO0ODOOOODOODOOO
gooboooboobooboooboobbooobooobooboboooboobbooboboon
goboobogoboooobooboboon

gobogobuogoboobobuooboboobobuoooboobobuoooboobobooboboo
0000 2400000000000000000000000DO00O0O

22 J0O0OOO0ODbOObDOObDOoOoboO

ocooooo 3booobooooooooUoobobooooooboobo0obDoobbOobooooo
0000000000000000000000000000000 routeing system 000000
0000000000 Smeed (1963) O 00 O Smeed (1963) O routeing system D 00000000
gcooooooboobOooOooooobU0ooUooUboOobOU0bODbDUODOoDOUOobOODbDUOD 200000
0000000000000 D00OO0Horoyd (1966) D0 0O000D0OO0ODO0ODOO0ODOODODO 12000
routeing system 0 0 00000000000 O0O0OOOOOOO0OOOO0O0ODOOOOODOOOOOO
0000000000oooo0oo0000oooooooo0ddd HoroydOODODOOOOOoOoooo

221 OOODOOO

o3foooooooooooobooooboobobobobobobobUobobubgoooo
gooboooboobooobbooboboobbuoooboobbuoooboobboobboon
ocoooooobooooooobooobobooooOooboooboOo3boooboobobooboboooDo
goobofo20000000000O00000O00DO0OO00ODODODODOOO0ODbDODOobObOODbDODOn
gooogooo

021000000 [-,/]00000000 22000000000 0000000000000
000000000 QU000 Q00000000 2,000 2, 0000000000 Q,000
Q, 00000000 dQ,Q,) 000000000l 0ID0UDOOD0O0DUODOODOUDODOO
gboooobbgobooooboooboo

d(Qq, Qg) = |z1 — 22]. (2.2.1)

*1 smeed O ”routeing”0 000 0000000000000 000DO00O0O00OO0O0OO0OOOOO
*2000000220000000000000000000001I0 200000000000000000000000



12 020 000000000000000

Q P Q,
-1 T z To l

021 0O0200000000.

222 DOO0OO0OOOODOODOODbDODOO

0400000000000000000000000000000000000O00000O0000
0000000000000000000000000000000000000000000000
00000000000000D000000000000000000

0 22000000000000000000000 PDO0OOOOOODO0O0 Q, 000 Q,
000000000D000000000000 POOOOOOOOOO0ODOO0000000000
d(Q,,Q,)00000000000000 Q(21,41) 000 Qyas,42) 0000000000000
ooooo

d(Q1, Qs) = V(21 — 22)? + (41 — 1), (2.2.2)

0o00o000D00ooD00obO00ooDoooD 220000000000 DOOO0oDODOOOOOO
0000000000 Holroyd (1966) O O O routeing system 0 00 OO direct routeing 00 0 00O
0on

022 0000 DOOOOO.

223 ODO0OO0ODOOO0ODOOOOODODOOODOOO

Oos0000000000000bO0b00bOb0bO0ob0ob0obOobOobUobobObDOoboooo
gobooobooboboooopbooboboooboooboobobuoooboobbooboboon
gbobuogobugbbuoobbuogbboobbuodgobuoobbuogoboobbuoobboob
gooboboobooboooooooooooooobobOobobOOobobOobOobbOOo 23@boOOO



22 O0000O0O0OOODOODOODOODOO 13

00000D00000000000000000000000000000000000000000
00000 2.4
0500000000000000000000000000000000000000000 25
00000000000000000000000000000000000000 Q,000 Q,0
000000000000000 Q,(ry,6,) 000 Qu(re,6,)0000000000000000O0
00000000000000000000000000000 2rad000000000 25000
I00000000000000000000000000002ad0000000000 000
0000D00000000000000000000000Holroyd, 1966(000000000000
00000000mMO 250001000000000000000000000000000000
00000000000000 dQ,,Q,) 0000000000000

min{ry,re} ¥+ |ry —ro] (0 < ¥ < 2),
4Q,.Q.,) = 2.2.3
Q. Q) {+ PO, (223
0o0ooo vyoooooooooooo
U = m1n{|01 —92’, 2 — ’91 — 92‘} (224)

0000000 OHolroyd (1966) O O O routeing system 0 0 00 O radial-arc/radial routeing U
0000000000000 00000000000000000 polar routeing 000000000
000 Vaughan, 19870 0000000000 0OODOO0OOOCOO0OO0OOO0OOOOOOODOOODOO
0000000000000 0000KarlsruheD 0000 00O Karlsruhe metric 00000000
000000000 Hyman and Mayhew, 2000b[1] Holroyd (1966) 00 0000000000000
Jodddddo0ooooDoDDobobObObOoOO0O0O00000d000o0o0o00ooooooDoDoDDbDDbbO 1000
0000000000000 00000000000000000000 (2003)00000000O0
OnUi0000000D00000O00000O0O0O00O0O00O000O0O

224 0ODO0ODOOO0OOOODOODODOO

0 6000000000000000D000000000D0000000000000000000
0000000000000000000000000000000000000000000000
000000000000000000000000000000 2600000000000000
00000000000000000000

0 600000000000000000000000D000000000O0000000 2700
0L xl,0000000000000000000000000000000000000O0 270
00000000 Q, 000 Q, 0000000 Q(z1,41) 000 Qyzs,92) 0000000000
0000000000000000000000000000 d(Q,,Q,)000000000000

d(Qq, Qz) = [r1 — 2| + [y1 — ¥2|- (2.2.5)

000000000000 0O0oOooooooDOoO0OO0OO0ODOdManhattandO OO OO OManhattan
distance 000 000000000000 O0O0O0ODO QU000 Q,000000O0O0O00OODODOODO
gboobobobobobobobobobooooooooooooooboobooobLbobobD 100



14 020 000000000000000

025 O000O0O0O0O0ODOOODOODOODO.

0o0oooooooo 27000 20000000000000000000DO000O0OO00DOOOO
O0o000d00ooooooooooooooooooooooooooobooooooooooooon
0000 0Holroyd (1966) O O O routeing system 0 0 0O 0 O rectangular routeing 0 00 00000
doodoo20000b0000b000b0000bO0doD 200000000 bOD0O0ODOO0DOOOn
oo ooobooooon

23 O0OOOO0ObDOoOoog

goobogoboooobooobooobooobooobooobooobooboobooooboo
gboobobobooboooboooooooboboboboboooobooobobobobOoboobooon
goobooobooboobooooboobobooobooobooboboooboobboooboon
gobooboogobooboboobooboooboobobooboooboon



23 0000000000

15

—
L
\7
#‘F

s

==

: m
s

i
=

| 500m ‘

026 O000000O0O00OO

_Ql(ﬂﬁhyl)

> X
h

027y ODO0OOoOoOopoooooogooooo.

231 ODOODOOOOO

00Q,00000000000Q,0000000000000000000000000000
000000000000 £(Q,,Q,)00000000000/(Q,,Q,)dQ,dQ,0000 Q, 000
0000dQ, 0000 Q,0000000dQ,000000000000000

0 2800000000000 POODOOOO 2000000 8,0 800000000006, 0
00000000 S,000000000000000

/S [ 1(Q:.Q,)4q,40, (23.1)

0000000000000 0 Q000 QO00000000000000000 10000



16 020 000000000000000

‘/‘/.ﬂQquﬁKthz=1- (23.2)
D JD

000000000 7(Q,,Q,) 000000000000 NODOOOOOOOOOOOO0O0000
000 7(Q,,Q,)000 Q00000000000 Q,00000000000000000000

7(Q1, Q) = N - f(Q1,Qy). (2.3.3)

0280 5,00 S00000000000000000000007(Q,,Q,)00000 S50
oooo S, 0000o0pooooooooooon

//T(Q17Q2)dQ1dQ2:n- (2.3.4)
Sa2 J Sy
0000000 Q,000Q, 0000000000000 0000000000O0ONDOOOOO

//T(Ql’Qz)dQldQQZN- (2.3.5)

D JD

ogoog D

0o s,

00 S,
n 0

028 O0O00O0O0OO0O0O0O0COOOOOOOO

02800000 5,085 000000000 20000000000000000000000
00000000000000000D02000000000008,=500000000 (2.34)0
ooboooboooobooobooboboooboo

232 DOODOOODOOOOO

000000000000000000 Q,000 Q,000 (Q,,Q,) 000000000000
00000000000000000000000000 Q,000Q,0000000000000
000000000000000000000000000 Q00000000000 A(Q,)O00
0000000000 QO0000000000000000000000000000000000
00000000000000000000000000000 Q00000 AQ,)000000
0000000 f(Q,,Q,) 000 Q,0000000000000000000000000000
00O

A@nzéj@b%M%- (2.3.6)



23 0000000000 17

00000000000000000000000 Q, 00000000000 u(Q,)DO0OODOO
000000 Q0000000000000 0O0000000DoooOoOO000OoOoOoBooo
0000000000000 00000O00D00000 Q,U0000 u(Q,)O0D0D0DLOU0DLOO
00 f(Q,Q,) 000 Q00000000 D0D0ODO0DDDD0D0DD0DD0ODOUDOUDOO

mQq) = /Df(leQz)dQl- (2.3.7)

233 ODO0OOOOO0ODOOOOODOODbOOOO

000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000 200000000000000
000000000000000000000000000000 Q,000Q,000000000
00000000000000 AQ,)000000 u(Q,) 00000000000 NOOOoOoOoo
oooooo0o

7(Q1,Q2) = N - f(Q1,Qy) = N - MQq) - 1(Qy)- (2.3.8)

00000000000000 Q000 Q,0 0000000000000 0oooooooooo
gooboooboobobooobbooboboobobooooboobbuoooboobboobboon
gbbuogobugbbuoobbuogbboobbuodgbooboobbugoboobbuoobbuoob
OSOoO0o0ooooooon

AMQy) = 5 (2.3.9)

MQq) =

W~ W~

. (2.3.10)

00000 (238)0000000000DDOOOUOUOUOUOLDODODOODOOOOOOOODOOO

_N
=G
ggooooooooooooobooobboboboobbobboooddddooooooogUuoo
oooboobooboooboooboooboobobooboooboobobbooboboobobooobo
gooboooboooboooboooboooboooboobobooobbooboboooboo
gobooobogoboobooobooobooobooooboobobuoooboobbooboboon
gbobooobuogboboobbogbooboobobodobooboobbuoooboobbuoobboob
gobooobooboobooobooobobooboboooboob0boooboobbooobooo
goobooobooboobooboboobbooobooobooboboooboobbooboboon
googoooogno
gbobobobobooboooooooboobobobobooooooooboobobobobo
goobooboboobboooboobobooobooobooboboooboobboooboon
gobooboooooboobobooboobooobooobooboooboon

m(Q1,Qy) (2.3.11)



18 020 000000000000000

24 000000O0O0OO0OO

000000000000O00D0O0OO0O(1) 00000000 (2)UDO0O00@B)L00D0D00D 30
0000000(4)000000000000() 0000000000000 00DO0DO0DO0OO0
goboooboobooboooboboobboobbodoboobobuoooboobboobboon
gbobogbobuobboobbuogbboobbuoobbuoobbuooboboobbuoobboob
goboooboogon

241 ODOODODOOODOO

goooooobooooooboooobobooboboooo b ooy ooooboDoooo
oo oooobobobobobobobobobbobbobobobobobobooon
Udoooooooobbbbobbbbbbbtdddddoooooooobbbboboboooo
0Joooooooooboooboooooboboboboboobooddoooooooooooobooag,
19930 00000000000 0DO000000DOO000D0DOoO00o0oooOoOoooooDoOoOoOoon
googd

oo ooooobobobbobobbobbboboboobobbbooboboooobooog
0o0o0o0o0oooooooDbo0obOoobo0ooobOoooDooobOoOooDboon, 1993

O00000000000000000000000D00000Ovelocity fieldd000O00OO0OO0O
oo ooboobboboboboboobobobbobboobobobobobobooon
000000000000 Wardrop, 1969; Angel and Hyman, 197611

242 DO0ODODOOOOOOO

ooobooobooobooobooobooobooobooboboooboooboooboo
gooboooboobooboooboobbooobooobooboboooboobbooboboon
0000000000000 000000000000000 t00000000000f(t)000O0
000000000000 2900000000000 [te,to+e00D000D0O00DOOODOO

f=ft) (to<t<to+a) (2.4.1)

0000000000 f(y)b00D0O00DO0O0DOOO0ODOOO0ODOO
gooooboooboobooob n0boobbOo0obbOooboobDboboobobooboo
0o0o0oooooo [t,t+df)00000000

F(t)dt (2.4.2)
0000000000 [tt+d) 00000000
n- f(t)dt (2.4.3)

gooboooboobooboooboobbooobooobooboboooboobbooboboon
goooobobooooon



25 O0O00O00O0O0ODOODOODOO 19

goobogobogooobooobooobooobooobooobooobooobooooboo
coooooobooooooobooboboOooo0oobbogbobboooUobDbOoboboUuUDobOo 200
gooboooboobobooobooobooobooobooboboooboobobooobooo
googoooog

f(t)

to t0—|—a

029 0000O00O0D+¢000OD0OOODOOODO f(t)o

25 JO00OOO0bOOObOOoOoO

gooodoo 3booooooobooooooUobobooooUUobooboooboobbobooOooo
goobooobooboboooboobobooobooobooboboooboobobooobooo
gooboooboobooboooboobbooobooobooboboooboobbooboboon
goboooboobobooobboobobooboboooboobbuoooboobboobboon
gbobogbbggbobogboboogog

251 DOODOOODOOOOODOOO

0300000000000000000000000000000000000 (1992)0000
0000000000000000000000000000000000000000000000
000000000000000000

0210000000 200000000000000P=:00000000000000000
000000000 POOOOOOOODOOO000OO0OOOOOOOO0000O0OOOOO0O0000
00000000000 gu(2) 000 ¢u(2)00000000000000 ¢g(2) 0

qo(2) = qo (2) + qo (2) (2.5.1)

ooooon

030000 1000000000¢y(2)000 qu(2) 00000000 NOODDODOODODOODODO
oboobo20000bo0bobooooooobooboooooobobooDoboboobobo200
cooooooogoooooobooob ooobbOoboboUUoboUobooobOoobboobbooDo
gooooboogn

000000000 ¢u(2) 000 ¢u(2,) 0000000000000 O0 POOOOOODOOOOO
00000000000000000¢q(2)00000000000000POOOOOOOOOOO



20 020 000000000000000

Q P Q,
-1 T z To l

0210 DOOOOO0OOOODOoOoDOo.

000000 ep00000O0ODOOO 211000000000 POOODOOOdzO00000O000O
00000 POOOOOOO0OUOODDOOOOUD qn(2)000000000O0DO0OOO0OODOO
000000000000000000000dz000%000ep 000000000000

OO0 POO0ODOOOOOOODOOOOOOODOOODOOOOO qn (2) - dz

ap = 00 POOOOOOOOO0 Tz
=qn (2). (2.5.2)
Q, P Q,
-1 T z z+dz  x9 l

0211 OoPPOODOOOOOOOOOODO.

252 DOODODODOODOOODOOO

0400000000000O0D0OO0O0O00000000000000O0O0O0ODODOOOOODOOOO
00000000 0OHolroyd and Millar (1966) 0 00000000 flow density O 0O OO flow density
000000000 0ooo000D POOO 00000000 DOO0ODOOOOODOOOOODO
0000000 00000000000 ¢q(P,p)000000D00DO0O0DO00ODO 0O [0,27]00
DO0000000O0000Oflow density 00000000

021200000 DOODO POOODODDUOOOOODODODOOODODODOOOOO dwOOOOO
0000000000 [p,e+de]000000000000OOO ¢(P,9)dwde 000000000
q(P,p) 0 flow density 0000000

000000 00000000 ¢(P,p)0000000000O0OO0OO POOODOODOOOOOO
doooddooOodooooooDboooobOoooDbO0OooD 212000000000 POOOODO
sdw00000000000000000 [p,e+dg]00000000000000 ¢P,¢)dwde
0000000000000 D000000000 sO0D0D0000D0D0O00O0000 [p,e+de]O
0oooooooooooooooooooooooooiod epdd0ooooooooon

O0POOOODODOOO [p,e+de]0000000OOOOOOODOOO
00 POOOOOODDOOD -OO0D0OO

=q(P,p). (2.5.3)

ap =

_ (P, p)dwdyp - 5
N sdw - de

*d:0000000000000000000000000000000D0000000000D0000D000Ong
O0o00o0oooo0o0oooo000 dz00000D0O0OO0O0O0DODODO



25 O0O00O00O0O0ODOODOODOO 21

0212 00000000 ¢(P,9)000.

00000 PpO0OOCOOOODOODOOOOODOODOOOOOOODOOOD POOOODOOO
000000000000 POOOOUDOOOOOOg(P)D0O00O0OO0O0O0UOOO0OOeOOO
00000 ¢P,o) 0000000 [0,27]000000000ODOOODOOODOODO

27
unP)—lé a(P, ¢)de. (2.5.4)

253 ODOODOODODOOODOODDLDOODOOD

050000000000000000000000000000000000000000000
000000000 Vaughan (1987) 00000000000000000000000O0O00000
000000000000000

000000000000000000000004000000000000000000000
000000000000000000000000000000000000000000000
0000000000000 400000000040000000000000000000000
000 gop(P)0 ¢og(P)0DDD00000000000 ¢op(P)0 ¢up(P)DO0OO0O0O0ODOO000
00O0g¢yn(P)0 ¢up(P)000 POOODODODOO0000O0O0O0ODOO000000O0O0O0O00000
o (P)0 ¢op(P)000 POOOOOOOOODOOOO0OOOOODOOOOOOOODO0OO

00000 213 (0000000 00000000000 2,00 200000000000
LO0000000 LO0D000000000000 ngyg 000000000000000 ngg OO
o (P)0O00 ¢op(P)000000000D000000O0O

Zb
noo :/ qoo (P)dz, (2.5.5)

Zb
non :/ qDD(P)dZ. (256)

a

0000 213 (b)) 000000000 000000 ¢, 00 ¢, 0000000000 CO00
000 CO0O000000000000000000 ngp 00000000000000000000
nop D0gp(P) 000 ¢up (P)000000O0O0O0O0O0O0O0OO0O0OO



22 020 000000000000000

¥b
Nop = / QDD Zd% (2-5-7)

b

nog goo (P)zde. (2.5.8)

a

o

0000000000000 ¢op(P)0 ¢ug(P)D0D000000000 ¢5p(P)0 qup(P)O00O0
00000000000 POOOOOOOOOO0O0OCOOO0O00OOO000O0O000000000 2.14
000000000 POO0D000 2d2de 000000000000000000O000000 ggp (P)
000000000 214 () 00000000 LOOO0OO0O0O000000000000 ¢up (P)dz
000000000000000000000 2de 00000000 POOOOOOOO0O0OOOO0O
000000000000000 apygg 000000000000

oo pPOOOOOOODOOOOOODOOOOOOOOOO0O oo (P)dz - zdy

« = =
Pop 00 POOOOOOOOOO zdzdyp

= qoo (P). (2.5.9)

00000000000 ¢op(P)0D0000O0DO0ODO0ODOOOOOOO

0000000000000D00 ¢op(P)00DO0OOOOCOOD 214 (b)D0OO0O0O0ODOO CODOOO
00000000000 00000000 ¢op(P)2de000000000OOOOODOOOOOOOO
d: 00000000 PODODDOOODOOODDOODOO0ODDOOOOOODDO appg OOODOOOO
googno

OO0 POO0ODOOOODOO0ODOOOOOOOOOODDOODOOODOOODOO
ooPOOOOOOOOODO

= qoo (P). (2.5.10)

appog =

_ oo (P)zdp - dz
zdzdy

000000000000 ¢qnp(P)0DO0ODOODOODOOODOOD

P =y

(a) (b)

0213 00000D0D0O0OUO0OOODUODODOOODOOOODOOODO(a)DOD0O0ODO0OO (b)ODOODOODOO



25 O0O00O00O0O0ODOODOODOO 23

¢ =p+dy

(a) (b)

0214 D0POOOCOOUOOOODOODOOOOOO(a)DO00DOOO (b)oDOOODOO

254 DO0ODDODOODOODODOOO

0 60000000000000000000000000000000000000000000
000000 Holroyd (1968) D0 0000000000000 O0O0O0O0O0O0OO0DO0000000O0
000000 Vaughan(1987) 00000000

0215 () 0000000y00000000000000000000 400000000000
0000000000 POOOOOOOOOOOOO0OOO0OO0OO0OO0OO0OO0O0O0O0O0O0OOOOOOOOOO
0000000000¢s (P), ¢o(P), ¢o(P)000 ¢o(P)0000000000000000 ¢ (P)
00000000000000000POOO0O0O0O0OOOOO ¢o(P)0000000000000
00000000000000000000000000000000000000 2.15()0000
00000 20000004, 00 % 00000000000000000000000000O0O0
000000 n; O ¢(P)0000000000D00000O0O

ng = /yb qo (P)dy. (2.5.11)

00003000000000000000000000000

000000000 ¢5(P), ¢o(P), o(P) 000 ¢o(P)00000000000000 POODO
0000000000000000000000000000000000000000O¢y(P)00
00000000 215 (b)000000000 POOOOO dedy00000000000000O0
0000000000 dy0000000000000000000 ¢o(P)dy00000000000
0000000000 dz00000000PODOOO0000O0O0O0O0O0O0O000000 apy 00
0000000000



24 020 000000000000000

Y
A N
l2 T 1 T 1T 4—
(z,yp) (z + dz,y + dy)
L 2
L
(7. 12) | an
00 dad
T Ly ey OO
0 I

(a) (b)

0215 OO00O0O0OO0ODOOODOOODOOOOO0OODOOODO.

00 PODOODOOOODOOODOOOO0OO00O00000 ¢y (P)dy-de

PO = 00 POOOOOOOOOO T dady

= ¢y (P). (2.5.12)

00 POO0OOOOO 300000000000 ¢(P),u(P)000 ¢o(P)0000000O0O0O
oooooooon

26 0200000

ocooooo 3boobooooobooboooboobOoboDooUoboooboboboDbOoboOoo
2000000000D000DO0ODODO0ODOODODOODODOODODOODODODDOODOOODO
gooooobooboboooboboobboooboooboobDbuoooboobbooboboon
gobooobooobooobooboboobooobooooboobo



25

030 O0Uoouooooooogn

31 0000

gobogobooboobooobooobooobuogoboobbuooobooboobooooboo
goobooboobobob1b0ob0obOobOobOobOobOobDoboDooDoDooDoDoDO

oboobobobobobobOobOobOobOobOobOobOOobogoDooDooDU 1obobgooooo
gooboooboobooboooboooboobobooooboobobuoooboobboobboon
ocoobooobooooooobooobbooboooooooobolboobDOooDooboOobobOoDo
goog

0O00O000O000o0o0oOOo0oo0 200000000000 000 4000 000006000
cooooobooooooooboooboboOooOoO0ooboUboboUboDOoUDboOoog roboooDo
ocoooooboooooooboobboobooooobbooob 1obooooboobooboboooDo
gobooboooobooboboobobooboooboobobooboooboobDboobobon

32 000000
321 ODOODOOOOOOOODOOOOOOD

031000000 (-, 000000002000000000%00000000 [-4,]00
00 Q,000Q,0000000007(Q,,Q,)00000000000000000000000
0000D000000000000000000000000000000000000000

0000000 POOOO 200000000 2€[-,]]000000000000000000
00 ¢o(2) 000 ¢u(2) 000000000

a0 (2) = qo (2) + a0 (2) (3.2.1)

0000000 25100,19000@0M0000¢(2)000 qu(2)00000000000

Q, p Q,
-1 T z To l

031 00200000000.

0O0dooo0oo00ooo0oooo POO0ODOOO0OOOODOOO0ODDOODOOODOOOODO
000000000000 Ap OO0 Bp OODOOO 32 () 000000000 POODDOOODOO

1000000 22000000000000000000000I0 200000000000000000000000



26 030 0000000o0oooooon

00000 POOOOOO0OODO0O0O0O0000 POOOODOOO0O0DOOO0O0O0D0O0OO0OO0OAR
000 BpOoOOoooooooooo

Ag ={x1| — 1<z <=z}, (3.2.2)
By ={x2| 2 < a9 <I}.

0000000000 POOOODO0OODO0O0O0O0O000000000000000000000 Ap
000 Bp Oooooo 32(b)00 Ap 00D0 Bp OOOOOOoOooOooOoOo

Ag ={x1| 2 <z <}, (3.2.4)
By ={z9| —1 <29 <2z}

Q, P Q, Q. P Q,
! ® 0 | ! o< ! o !
—0 1 z 2o L —b o z 1 L
' > > < I E——
' Ap ' Bn ' ' B ' Ap '

032 00POOOODOOODOOODOODODOOOOOO.
000000¢(2)000 ¢o(2) 000000000000

00 () = / » / 7190000, (3.2.6)
qn (2’) :/1€AD /QGBD T(Q1aQ2)dQ2dQ1- (3-2-7)

0 (3.2.6)00 (3.27)0000000 Q000,000 Q000 2 00000000¢g(2)0
00 ¢n(2) 0000000000000

z l
qn (z):/ _l/ B 7(Qq, Qy)daaday, (3.2.8)

l z
qo (z):/ - /__lT(Ql,Q2)dx2da:1. (3.2.9)

00000000000 (21,2,)0000000000000000000 [-Lx[-,]00000
000000000000000 33000 #-2,0000000000000 10 (zy,2,)0000
000000000000000000000000000000000000PO0OOOOO000
0000D000000000000000000000000000000000000000 (3.2.8)
0000 (329)00000x,-z,000000000000000 7(Q,,Q,)000 3300000
0000000000000000000000000



3.2 000000 27

€2

By|| oooooO

B ooooon

-1 X * t > T
~— P
' Ap ' Ap

033 000000 (x1,z2)0000000.

322 ODO0ODOODOOOOOODOOODOOO

00000 Q000 Q, 000 [-,J00000000000D0oo0ooo0oooooooon
gobooboooobooobobooobooobo

1 1 N
7(Q1, Q) =N~ SRR (3.2.10)

00000000 ¢o(2)000 ¢o(2) 000 (3.210)00 (3.28)00 (329 0000000000
0000000000000000

05 (2) =31+ 2)(0 - 2), (3.2.11)
qo (2) :%(l +2)(l — 2). (3.2.12)

0000000000 ¢u(2)=qu(2)+qu(z) 000000000000

qo (2) = %(l +2)(l — 2). (3.2.13)

000 ¢u(2,) 00000 3400000000000000 20000000000000000O
goboooboobooobobooboboobobuoobooboobbuoooboobboobboon
oooboooboooobooobooobooobooobooboboooboobobooobooo
0000000000000 00O00O0000 NOODODODOOOO N/20000000000

gbooboobobobobobobobobogoooo 2b00bOobOoo

Smeed (1977) D00000000O0DOOO0O0O0OOOOOUOODOOOOODOOOUOOODOOOOO
O0OOBristol 000000000000 000000000000OOSmeed 0000000000
gooboooboobooooboobboobobooobooboboooboobbooboboon
gobboooobobbooooboboooooobo,ogooobobooooboboooobbooon



28 030 0000000o0oooooon

gooboooboobooooboboobobooobooobooboboooboobboobboon
googn

000000 (1992) 0000000000000 00DO00DO0LO0DO0OOO0ODO0ODOODODOO
gooboooboobooboooboobobooobooobooboboooboobDboooboon
goobooobooboobuooobogbooboobobooooboobobuoooboobboobboon
gbobggbogooboobbooboooboad

goooooboooboooboooboooboooboobobooobboobobboooboo
goobooobooboobooooboobbooobooobooboboooboobbooboboon
goog

Y
N

034 000 qu(z)0000

33 00OO0oogo
331 0000000

000000000 ¢o(2), gu(2) 000 ¢u(z)00000000000000000000000
00000000 po(z,t),po(zt) 000 po(zt) 0000

00000 POOO0OO0OODOOODODODOO0OOOOOO POODODODODOOtOODDODOOOODODOOO
Yp(t;2) 0000000000000 O000O00O00OO0OO0O0O0UOOO0O0OOO0OO pp(zt)0000 ¢
00000000OPOO0 z0000000000000DO0DO0DOUODOOOO po(st)000O00OO
D0D000000000pg(2¢) 0 qu(2)0 ¢y (2) 0000000000000000

po(2,t) = qo (2) - Yo (t; 2). (3.3.1)

0000000 (3.31)00000¢y(2) 00000 POOOOOOODOO00000O0O0O0O00000
000000000000 ¢s(42)00000000000000000000000POOOOO0
0000000000000000000000000000000000000000000000
O0vg(t;2)000000
000000000000 POOOOO [t,t4+d)00000000000 py(zt)dt00000
000000 (331)000000000000000000000000000000



3.3 0O0o0o00on 29

qo (2) = /OO po (z,t)dt. (3.3.2)

— 00

0000000000000 yYs(t;2) 000000000000 100000000000O0OO

/m¢ﬂtdﬁzl (3.3.3)

0 (3.32)0000 350000000pg(2,t) 0000000000000O0Opg(2,t)0 ¢t000
0000000000000 n(>,)00000000000000O0OOOO0 [k,t] 000 POOOO
gooogobgoooboog

to
/ po (z,t)dt (3.3.4)
t1
0000000 3.50000000000000000

Po (Zat)
A "
0000000 [, po(zt)dt

/\
DDDDDDqD@f\

Y
~

ty to

035 000 qu(z)00000 py(z¢)000.

0000000000 POO0OOO0OOODOO0O00O00O0D00000000 ¢5(t2) 0000000
000000000 pg(z¢)00¢n(2)0 ¢ (t;2)0000000000000000

po(2,t) = qo (2) - Yo (5 2). (3.3.5)

0000000000000000000000 pg(zt) =ps(2t)+po(zt)000000000
ooQ

po(2,t) = qo (2) - o (t2) + qo (2) - Yo (t; 2). (3.3.6)

00000000 py(zt), po(z,t) 000 py(2,t) 000000000000 00000 vy (£ 2)
000 ¢, (42 000000000000000000000000000000000
3.32 00000 0oUooooDoooodoooooooooggooooo

000000000 71(Q,Q,) 0000000 f))ODOD0ODDLOODODDODLOODODODODOO
0000000000000 00000000000 ¢Y5(t;2)0000000000



30 030 0000000o0oooooon

036000000 PO000000000O0OO0OO0OOPOO0000 Q,00000000 «000
000000000 v000000000POQ,00000-«000@0DO00POOO0O0O000
00000 «0000000000000000000POO0O0O0O0O00000000000000
00000000000 ¢ (k2e) 000000000 ¢5(42) 00000000000 op (¢ 2|u)
0000000000000000000000

Umax
o (8:2) = / o (t; 2lu)g(u)du. (33.7)
0
DDDDg(u)DDDDD v 000000000 umaxy 0 o 000000000000000 Umax O

l—z

(3.3.8)

Umax =
v

0000

0000000000000000 (3.3.7)0000000 POOO0OOOOTOPOO0OOO Q,
0000000 U 000000000 froltu) =9 (kz2u)g) 0007 00000000000
0000000000000000000004v(t2w) 000 gw)00000000000000
0000000 (3.37)0000000000000000000

Q 1;/%32
| o |

-1 T z To l

036 00POODOOO0OOODDODOOD «wOO0OOOO.

gobooobooooooooon

OO0 POOOOOOOOwDOODOODOOOOD QOOOODOODOOODOODODODOODODOO
Q,000¢t00ff0DoOo00d00POODt—wd00D0DOODOOO0O0OODDOODOOOOODOO
000000000000 yYs(t;2jw) 000 3.70000000000000 f(t)D0O0ODO0OOOO
U0 «.0000000000000000D00O40

Yo (tzlu) = f(t+u) (to—u<t<to+a—u). (3.3.9)

000000000000 0000000 71(Q,,Q,) 0000000 fH)OODDOODOODDOOOO
ocoooooobbooob 200b0000D0O0O0bDOO 4000 s0O0000DeOOODOOODO
00000000000 7000000000000 (3.390000000000O000O0

gobooboboooboooboooboon

00 POOOO0OQ, 000000000000 ¢g(uv) 000000000000 OO0O0O G(u)
00000000 Gu)OOOD POOOOOOw00000000DO0DO0ODO0ODO0ODOOOODO 3.8
goboobbooboooboooboobobooobooo

000000x-2, 00000000000 3900000000000 0O000O0 FOOO POO
00000oDooo00oooDooo00ooooooooooooooooooo0o0 Ccooooo OO



3.3 0O0o0o00on 31

ft+u)  f(t)

> ¢
to —u to to+a—u to + a

037 00000000000000 ¢ (t;2u)0

000000 «000000000000000000000000000000 G(uw)DOOOOO
gooogn

ffc (Qq,Q,)dzoday (0
ffF Q1>Q2 d$2d$1

00000000000000 71(Q1,Q,) 0000000 D00D «w0D00D00D0D0DO0ODO g(u)
00000000000000 Guw)DwODOOOD0ODDOD0ODOD0ODO0ODOOoMm

G(u) =

IN

u< E2). (3.3.10)

Q, P Q
l ® ] >0 | I
-1 T z To \ l
Z+UV-u

038 00POOODOODOOODwO0ODOOODOODODO

Z+U-Uu

=l > I

—1 = I

039 00POOODODOO0O0 00000000000



32 030 0000000o0oooooon

000000000
0000000000000 ¢(k2)00000000000000000004¢,(¢z2/w) 000
¢(v) 0000000000000 (33.7)00000000000000000000
00000 POODOOO0O000O0OO0OO0OO0O0OOODDONO0000000000 POOOOO00O
t0 POOOOOOD «000000000000000D00 ++000000000000000
0 (3390000 (3.310)0000000000 FEOOOOOO

l_
E:{@ﬂoug—u<t<tm+a—u,0<u< Z} (3.3.11)
v

00000000 (33.11) 00000000 EOOO 310000+« 000000000000
D000000000000D0000000000 310000 2000000000000 0O
Umax = =20000000000e< 200000 310()00000e>5200000 3.10 (b)
Oooo0oO

u u
1 (i) () (i) 1
l—z a<17_z l—=z a>l7_z
= t4+tota : : : u=—t+ts+a
/5<:_t+t° w=—ttto
> t = > 1
to+a tg — =2 to+a

0310 0O0OPOOODOOOtOPOD Q, 0000000 w0000DO00O

0 3.100000000000000 (3.3.7000

o (8 2) = / " o (t: 2u)g(u)du

D0000D0D00000000000 3.10()000 () 0000000000 ¢t0000000
3000000000000000000 3.10()00000() tg— 52 <t<to+a—EZ (i)
tota—E2 <t <y, (iii) to <t <tp+a,0 30000000 3.10 (b) D00 O O®) to— =2 <t < to,
(il) to <t <to+a—2, (iil) to+a— B2 <t <ty+¢,03000000000000¢t00000
(i), (i), (i) DOODO0O0ODOO0DO0OO0OO0DOO0C0OO E00O0OODOOOOOOO00000 (3.3.7)00
00o0O0 (3.3.9) 0

Yo (t2lu) = f(t+u) (bo—u<t<to+a—u)

0000000000 yYp(t;2) 000000000000

l—z

(a) a < 000

v



33 0000000 33
i) to—E2<t<to+a—E2000
l—z
¥p (t; 2) :/ ft+uw)g(u)du, (3.3.12)
—t+to
(ii)to+a—2<t<t,000
—t+to+a
vtz = [ e+ wgldu, (3.3.13)
—t+to
(iii) to <t <tg+a000
—t+t0+(l
vy (t; 2) :/ ft+u)g(u)du. (3.3.14)
0
l—z
(b)) a > 000
(i) to—E2<t<t,0OO
l—=z
w6z = [ pe+ wgudu (3.3.15)
—t+to
(ii)to<t<to+a—2000
l—=z
w6z = [T fe+ wgu)dn (3.3.16)
0
(ili) to+a— =2 <t <ty+aD00
7t+t0+a
Yo (t; 2) :/ ft+u)g(u)du. (3.3.17)
0

0000000000000000 7(Q,,Q,) 0000000 f(#)0000000004g(¢;2)0
0000000000000000000000 ¢s(42)00000000000000000000
0000000000000000000000v(42)0 20 —200000000000 ¢y (¢;2)

ooooooooono

Vo (t; 2) = ¥y (t; —2).

gooooobgoooog

(3.3.18)

0000000o0oo0oo0o0D fe)D0oO00O00OD0O0DO0O0O00O0DO0OU0O0OO0ODOOOOUODOOO
goobooobooboboooboobobooobooobooboboooboobobooobooo
gobooboobobooboooboobboobooooboobboooboobbuob e

gobgoboogoooooobboon



34 030 0000000o0oooooon

0000000000000 0000000000O0O00D fH)OO0DOO0DOOODOODOOOO
000000000000 0000000O0O0000 jte,to+e 00000000 DOOOOOODOO
o— 0000000000 DO0ODODO tcODODOODOODOODOODOOO

oo UYU T
00g¢u)000000000D0DO0O0O0O0O0ODOOOO0O0OO0ODOOOO0O0UOOOOOOOUDOO
goo

0000000000 ¢, 0000000000000 Dooooooooo0 POOOOODOO0O wu
goodoooOoooDOdoO0o0bDOdoU0ooboOoODUObObO0 tyOOOoDOUOoOODODOO POOO
tp—uwOOOoOoOoOooOooobOOoOobOboUObObOobOCo POOOOOOOt0 POODOUODO wODO
oon

t= t() —Uu (3319)

00000000000000w000000000 g(v)000000000000MO0000000
00000 «00000 (3319 0000000000 +¢+00000000000000000000
0,2003,111000 0 0000000000000000 ¢(42)000004¢s(k2) 000000
ooooooO

d
¢D(uz)::g@0——ﬂ-‘a%‘ (to — tmax < t < o). (3.3.20)

du
0000 |=10000¢s(2) 0 g(«)000000000000000

Yo (t2) = g(to —t)  (fo — Umax <t < to). (3.3.21)

000000000000000O0Ys(,2) 0000000000 g(w)DODODOOOOODOOODOO
oooon

333 00000000000 DOO0ODOOO0ODOO0OO0DbOoDOoOobDOoOoobOOon

0o000o0o0o0o000ooD [=4,/)]o000000000000000000O0O0ODO0O0DOO0DOO

N
7(Q1, Q) = 5 (3.3.22)
goodoooooooogad [to,to—l—a]DDDDDDDDDDD
1
ft)=~ (to <t <ty+a). (3.3.23)
a

00 POODOOOOODOOOOOODOODOD Guv)OO (33.10)0000000000O0O0OO

Glu)=7— (0<u<E). (3.3.24)
000 «w000000000 g(uv)D00D00O0O0ODOODOOO
gw) = —— (0<u< =), (3.3.25)



3.4 00000000 35

00000000000 (3.3.7)000000000 ¢Yu(t;2) 000000000000
l—=z
(a) a < — 00O
v

. 1— 1—
() to—E2<t<to+a—2000

v(t —to) +1—2

iz) = 3.2
wD (t’ Z) a(l - Z) ) (3 3 6)
(i) to+a— 2 <t<t,000
t2) = 3.3.27
wD ( ,Z) l - z7 ( )
(iii) to <t <tp+a000
. v(~t+to+a)
U (& 2) =7 (3.3.28)
l—z
(b) a > ooQ
v
(i) to—E2<t<to0OO
L vt —to)+l—2
¢D (ta Z) - a(l _ Z) ’ (3329)
(ii)to<t<to+a—2000
1
Yo (85 2) = (3.3.30)
(ili) to+a— =2 <t <ty+aD000O
—t+t
() 22ttt a) (3.3.31)

a(l — z)

34 O0O0O0OOOoOooDOO

000000 (3.322)000000000000D00D00OD0OOD0OODODOOOODODOOOOOOO
000 (3.3.23)0000000000000O00O0O0O0OO0O0OO0OUCO 341 000000000000
oooooobobogo 34200b0000o00bo0oooooo

O00000D0ODODDODDODOOOODOO0O0OD0ODODDDODOODOOOO0O000DODDODOO 22000000
21/v=200000000000000000000000000000O0O0DOt=0000000
to=2000000000000000000(=100000000 N=10000



36 030 0000000o0oooooon

341 OO0ODODOOODOO

031100 3120000000000 po(2t)000000 31300 3.1400000000
po(z,t)0000000000000O0O0OOODOOOOOODOOOOODODOOOOOOOOOOD
ooofo0oobUoobOobomo 31100 313000obuobobgoot=20000000000
000 31200 3.14000000 [2,3|000000000000OO00OO0ODOOODOOOOOODOO
031100 31300 te(0,2]00000 31200 3.1400 te0,3]0000000DO0O0ODOOO
goooooogno

ooooooogn

0 3.11000000000p(2,¢t)0 200000000000000000O0O0O0OOOOOO
gobbdzoooboooboboooobooobbooobobooobbooobobooobboon
gbobgobbooboobobuoobboobbooboo

0 3.1200000000000000O000DOO0D0O0O0ODOOO0ODODODODOODOODOOODOODODO
ogoooobooooogoooo slloboomooobooooooobooobobooobooo
O+=200000000000000DOOOOO0ODODOOOODOODOODODODOUOOODODO
gbooboboboobooooooooobobobobooooooobobobobobobooooo
gooboobboobboooboobobooboboobooooboo

gooogooo

0 3.13000000000ps(2,)000000000OOOOOOOOOOOOOOOOOOOO
goobooobooboobooooboobobooobooobooboboooboobDboooboon
gobooobooboobooobobooboboobobooooboobobuoooboobboobboon
000 3.3o0boooofboo™@oooooooooooooooom@ooboboooboOoDo
gobooobooboboooboooboboooboooboobDboooboobDbooobooo
gooboooboobooboooboobbooobooobooboboooboobbooboboon
googooogno

0 3i4000o0ooobooooobooboobooooooooboboboboboobbDooboo
t=2000000000000000D0¢t=2000000000000000O00O000O0t=20000
gobooboboobod bbb booboobobooboobbooboooobmoon
coooooboooooooooobobooboooboOoobboboboooDbo 8o 30Oboobo 9O 30
00000000 00bO0o0obO0o0oo0o0ooOooDoooDoooDoOooDoboOoooOsD 300bOo0DbOn
goobooobooboobooboboobbooobooobooboboooboobbooboboon
goooooboog

342 OOODOODOOODOO

0 31600 3.1700000000000000OO pa(2t) 0000000000 py(zt)000
000000 3.1800000000000 pu(zt)000000000OO0DODOODODOO4000000
02=02,2=04,2=06,z=08000000000000000000O0000000DO0O0OO



34 0DO00O0OO0O0O0O

37

05

0.25

0.5

0.25

05
0.25
-05 0 05 -05 0 05 1
t=0.6 t=10.8
05
0.25
-05 0 05 -05 0 05 1
t=14 t=1.6

0311 D00000OO0O0O py(2,¢) 00000000000

05 05
0.25 0.25
-05 0 05 -05 0 05
t=0.2 t=04
05 0.5
0.25 0.25
-05 0 05 -05 0 05
t=1.0 t=12
05
0.25
-05 0 05 1
t=18
05 05
0.25 0.25
-05 0 05 -05 0 05
t=0.2 t=04
05 05
0.25 0.25
-05 0 05 -05 0 05
t=1.0 t=1.2
05 05
0.25 0.25
-05 0 05 -05 0 05
t=1.8 t=2.0
05 05
0.25 0.25
-05 0 05 -05 0 05
t=2.6 t=2.8

05

0.25

0.5

0.25

0.5

0.25

05

0.25
-05 0 05 -05 0 05 1
t=0.6 t=0.8

05

0.25
-05 0 05 -05 0 05 1
t=14 t=1.6

05

0.25
-05 0 05 -05 0 05 1
t=22 t=24

0312 000000000 pa(2¢)0000000DOO0OOMO



38 030 0000000o0oooooon

0.5 0.5 05 05
0.25 0.25 0.25 0.25
-05 0 0.5 1 -05 0 0.5 1 -05 0 0.5 1 -05 0 05 1
t=20.2 t=0.4 t=0.6 t=20.8
0.5 0.5 0.5 05
0.25 0.25 0.25 0.25
-05 0 0.5 1 -05 0 05 1 -05 0 05 1 -05 0 0.5 1
t=1.0 t=1.2 t=14 t=1.6
05
0.25

-05 0 0.5 1

t=1.8
0313 0000000 po(zt)0000000O0O0O0
05 05 05 05
0.25 0.25 0.25 0.25
-05 0 05 1 -05 0 05 1 -05 0 05 1 -05 0 05 1
t=0.2 t=04 t=0.6 t=0.8
05 05 05 05
0.25 0.25 0.25 0.25
-05 0 05 1 -05 0 05 1 -05 0 05 1 -05 0 05 1
t=1.0 t=12 t=1.4 t=1.6
05 05 05 05
0.25 0.25 0.25 0.25
-05 0 05 1 -05 0 05 1 -05 0 05 1 -05 0 05 1
t=138 t=20 t=22 t=24
05 05
0.25 0.25
-05 0 05 1 -05 0 05 1
t=2.6 t=28

0314 0000000 pr(zt)000000DOO0ODOOMD



3.5 000000 39

oboboooboboooboboobooboboooboboono 315000 a=0.5,a=1.0,a =1.5,
a=20000000000H5000000000DOO00DOO0OODOOUODDODODOOOODDOO

goboobobooobooooo

031600 3.1700000D0O0O0OO00DOOO0ODOOOO0OO0O0ODOODOO0OUODOUODbDbOOOD
0000000000000 000000000000000000O00O0000O0OoOUOO (3.2.11)
00 (3.212) 0000000000000 0DO0O0O0O0ODO0OO0OO0O0O0O0 po(zt) 0 po(zt)00
goboobooooobooboboobooobogn

gbobgobogbobooobbooboobbotd.b0b00booooobooboooboobo
gbobooobooboboooboobobtzb0obooboboobobooobobDoboboboooon
goboooboobbooboboobbooobooobooboboooboobbooboboon
0000000 e=050000002z=02000002z=040000000000000000
goog

ooooobooboobooboobobooboobooboboooboobooboboooboomo
gooboooboobooboooboobbooobooobooboboooboobbooboboon
goo

goooooo

0318000 31600 3.170fooooooodooooooooooooooogooon 313
gobooobuoobobooobbogoobooobuooooboobbuoooboobbooboboon
oooooobooooooboobboooD ¢y=2000000000000000O0O

ft)

2 ™1 a=05
15 /a =1.0
1 S a=15
/a =20
05 4
t
1 2 3 4

0315 000000 40000000000000O

35 0O0O0Oono
351 OJ0OO0OO0OO0OOOODOOOO

goobogoboooboooboooboooboooboobobooobooooboooboo
gbobooobuogboboobbogbooboobobodobooboobbuoooboobbuoobboob
go00ob00ob0ob0ob0obOobOobOOobO0ooO0oDOOooDobOOoOO0 2000000000000 0O0O0OO
goboooobooooDg

00000000000000000000000000000000000 Smeed (1977) 00 O



40

030 0000000o0oooooon

Po (Za t)

0.5

0.25

Po (Zat)

0.5

0.25

\

\

\

A

1 2 3
z=10.6

Po (Za t)
05

0.25

Po (Za t)
0.5

0.25

z=10.8

0316 D0O0O0O0O0O0O0OO po(zt)000000O0

Po (Z’ t)

0.5

0.25

Po (Zat)

05

0.25

=T

1 2 3

z=10.6

Po (Za t)
0.5
0.25
2
z=04
Po (Z,t)
0.5
0.25
[ T
2
z=10.8

0317 DOOO0OOOO0OO0OO po(et)00000O0OO0



3.5 000000 41

Po (Zat) Po (Zat)
0.5 0.5
0.25 0.25
t t
1 2 3 4 1 2 3 4
z=10.2 z=04
Po (Z,t) Po (th)
0.5 0.5
0.25 0.25
t t
1 2 3 4 1 2 3 4
z=10.6 z=10.8

0318 0000000 po(zt)0000000

0000000000000 00000000000Clarck0000O0O0O0O0O0O0O0OOOOOOOO
0000000000000 0000000Smeed 000000000000 O00OO0OOOOOOOO
000000000000 00000000000O0 (20000 000000000000000000
0010000000000 000000Clark000O0000 Sherratt 000000000000
0000000000000 Jte,to+e 000000000 200000000000000D0

F(t) = %(t—to)(to ta—t). (3.5.1)

0000D000000000000000 ¢y(42)00 (3.3.12)000 (3.3.17) 000000 (3.5.1)
000000000000004Ys(k2) 000000000000

l—z
(a)aSTDDD

(to—E2<t<to+a—2000

(I — vtg + vt — 2)%(2utg — 20t + 22 + 3va — 21)
t;z) = 5.2
wD( 72) (137)2(l—2) 3 (35 )

.. 1—
(i) to+a— =2 <t<t,000

Yo (t;2) = ; (3.5.3)

l—z



42 030 0000000o0oooooon

(i) tg <t < to+a000

Yo (t;2) SulLha: _a;gl (a;) 2t + 24) (3.5.4)

b a>""2n00
v

(i) to—E2<t<t,00O

(I — vtg + vt — 2)%(2vtg — 20t + 22 + 3va — 21)

b = 3.5.5
Q;DD( 72) G3U2(l—2) ) ( )
(i)t <t<to+a— 2000
—6v2t2 + 6v(20to + 2z + va — 1)t — 21* — 3va(2vty + 2)
Yo (t;2) = 3,2
adv
n (Bva + 6toz + 42)1 —32(231)275% + 3vtgz + 22) 7 (3.5.6)
acv
(ili) to+a— =2 <t <ty+aD000O
to —t)%(a — 2ty + 2t
v () =0t = )7 (a =2 +20) (3.5.7)

a3(l — z)

gboooo20b0boooboboobooboboobooooboobooooboboboooboob O
gbooboboobooboobooboobooboobob0o@oobob0bUeb0bO0ObOobOobLOOOOO
oooooobooooon

00002000000000000000000000 pp(zt)00000000OODOOOOO
00000000000 l=100000000 N=10000000v=100000000000
ocoooooboooobobooobpoooooobooooDot=000D000YOODOOOODDOOOO
0000000 2/v=200000000¢t=20000000

0 31900000 py(2,t) 00000000 32000000000 py(2t)0000000O0O0ODO
03200000000000004000000 2=02,2=04,2=06,z=0800000000
0000000000000 o0o0obobD0oDoD0oDo0o000o00oDoDODOoD0O000 a=0.5,
a=10,a=15,¢=200 40000000000

O 31900 3200000000000DOD0000O00ODO 3140000 318U0DOO0UObOOUOUOOO
gbobooobuooboboobbogbboobobuodboboobbuoooboobboobboob
000o00o0o0o0ob0ooo0oo0ooO0ooOo0obO0obOOooDo0bOOobDOobOo0obOoDOobOOo2000000
goboobooooboooboboobobooobo



3.5 000000

43

0.5

0.25

0.5

0.25

0.5

0.25

0.5

0.25

05
0.25
-05 0 05 -05 0 05
t=0.2 t=04
05
0.25
-05 0 05 -05 0 05
t=1.0 t=12
05
0.25
-05 0 05 -05 0 05
t=1.8 t=2.0
05
0.25
-05 0 05 -05 0 05
t=2.6 t=2.38

0319 0000000 pp(zt)000020000000000O7

Po (Za t)
0.5

0.25

Po (Z, t)
0.5

0.25

2
z=0.6

05 05
0.5 025
05 0 05 1 05 0 05
t=0.6 t=0.8
05 05
025 025
205 0 05 1 205 0 05
t=1.4 t=1.6
05 05
0.25 025 \
205 0 05 1 05 0 05
t=22 t=24
Po (Za t)
0.5
0.25
t
1 2 4
z=04
Po (Z, t)
0.5
0.25
L
t
1 2 4
z=0.8

0320 0000000 py(2,t)0000000200000000000



44 030 0000000o0oooooon

36 0300000

gbobobobobooboooooooboobobobobooooooooboobobobobo
0000000 (1)000000D00(2)00000000(2)200000000000030000
goobooobooboboooboboobobooobooobooboboooboobbooboboon
gobooobooboboobbuogbboobbuoobooboobbuoooboobbuoobboon
ooobooobooboboooboooboooboooboooDboooboobobooobooo
goobooobooboboooboobbooboboooboobboooboobbooboboon
googno
goobogobooobuooobuooboboobbuogobooboobuoooboobooboooboo
gooboooboobooboooboobobooobooobooboboooboobDbooobooo
goobooobooboboobobooboboooboooboobboooboobbooboboon
goboooboobooboooboboobbooobooooboobbuoooboobbooboboon
gbooboobobobobobobobobobobooboooooobooboobooboobboobo
gooboooboooboooboobobooboboooboobobooobbooboboooboo
goobooobooboboooboboobobooobooobooboboooboobbooboboon
gobooobuoobobooobboobbooboboobooboobbuoooboobboobboon
ooobooobooboboooboooboooboooboooDboooboobobooobooo
goodoooooobobbobobooboobobobobobobobbobobooobobobobobobboboboboobobobon
goobooobooboobooooboboobobooboboooboobbuoooboobbuoobboon
gobgobboobooobuoonobuoobboooboo
ooobooobooobooobooobooobooobooboboooboooboooboo
gboobobobobobobobobobooboooDobOUo 200000 oDooDoooooooo
gooboooboobooobboobboobobooboboobbuoooboobboobboon
gboobobobooboooboooooooboboboboooooobobobobobOobobooooo
gooboboboboob200b00b00b00bO0bOO0bODObODOOOoDODOoODOooDOooDooDOoobDO



45

040 0O00OO00OO0O0OO0OO0OO0OO0O0O0O
oot

41 0OO0OO

goooooboobobbooboobobooboobboobooboooboboobooboooobo
gobooobuoobobooobbogboboobbuoobooboobbuogoboobboobboon
goobooobooobooobooobooobooobooboboooboobDbooobooo
goobooobooboooooboobobooobooobooboboooboobboooboon
gobooobogoboobooobooobooobooooboobobuoooboobbooboboon
gbobooobuogboboobbogbooboobobodobooboobbuoooboobbuoobboob
gobooboooobooboboooboboobbooobooboboobboooboobDboobbOon

42 00O0O0O0O0OO0ODOOOOOO
421 O000ODOOOOOOODOODOOOO

0410000000000 DOO0OO0O0ODOOODOOO pOO0O0ODOOODOOODOOO

020000000e00000000 ¢(P,p)0000000000OO00OO 4100000 DOO
0OPO0O0O0O0e00D0O0U0O0O0DO0U0O0O0DO0O0dwO0D00OO0O0O0DOOOOOOOO [p,e+dy]
00000000000000 ¢P,e)dwde 000000000 q(P,p)00e00000DO0ODOO
ooooono 25200,200000

041 00000000 ¢(P,p)000.

020000000009(P,e)0 HolroydD Milar O 0000000000 OODO DO OO Holroyd



46 040 00000000000 O0ODOOOOOO0O00O000

and Miller, 1966(10 Holroyd 0 Millar D0 D000 DOOOOOOOOOOOOO ¢P,p)0000
0000000000oooun ¢P,p) 0000000000000 O0OHoIroyd O Millar 00 00O
ooooooon

042000000 DOO0OODOOUOO0OO POOOD 00000000 gODOOOOO PO @
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o000 |0000000000000000000O00 ¢g0O0DO0O0OD QLOUODDODODODOO
000000000000 (422)000000000000000000O, 19760
0000 4300000 ¢g0OU0O0 00000+ w/2=6000
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u u
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0
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—t+to+a
VP = [ e+ ugudn (4:311)
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goodoOoU0obo0oooobOdboob0o pOoOOdDOOOOoOOOOODO0ODODObOOUOOODOO
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N
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00000000000000 [t, to+4¢ 00000000000
1
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a

00000 POODOOODOOODOODOODOOO Guw)OD (434)0000000000O0O0D0
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= <u<=2), 4.3.14
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000 «000000000 ¢g(v) 000000000000
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00000000000 (4.32)000000000 ¥(;P,e)000000DO0O0ODOO
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.. 1—
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Y(t&; P, p) = =) , (4.3.17)
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B P, ) :U(t—t0+a)(vt—vt0 —z —va) (4.3.18)
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b a>"—2000
v

(i)to—E2<t<t,00O

—(vt — vty + 1 — z) (vt — vty — 1)

?P(t;PaSO) = al(l—z) )

(4.3.19)
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.. 1—
(ii) to<t<to+a— 2000

1
(P, p) =, (4.3.20)
(i) to+a—E2<t<ty+a0D00O
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0000000000000 #n/2x157000000000000000000O0O0O0OOOOOO
goooopoboobooboobboobboobbodobboo™ooboooobooooboooboo
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000000 ¢p(P)000D00000000000000 ¢ug(P)0 ¢up(P)0020000000
000000000000000000000

qoo (P) =quoa(P) + qoon(P), (5.4.1)
qoo (P) =qupa(P) + quon(P).
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057 0D0000D00OO0O0OUODOOODUO(UOOO (b)ooo.
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00000000000 ¢oga(t;P)0 ¢pop(&EP)00000000 ¢Yopa(t; P) 0 ooyt P) 00
00000000000000000 pap(P,t)000 pgp(P,t) 000000000000

Poo (Pat) =qn Da(P) g Da(t; P) + qo Db(P) g Db(t; P)7 (5-4-3)
Poo (Pat) =qn Da(P) ) T/)DDa(t;P) + QDDb(P) : ¢Dmb(t§P)-

OD0000Opnp(P,t) 000 pop(P,t) 0000000 Wupa(tP)0 ¢oopn(t;P)000 Yooal(t; P)
0 ¢uou(:P) 0000000000000
odoboobooooooooouoooooon

poo (P,t) =poo (P,1) (5.4.5)
0000000000000000000000000000000000 pp(P,t) 0

po (P,1) =2pnp (P, 1), (5.4.6)
oo

po (P, t) =2pqq (P, 1) (5.4.7)

Ooo000oo0O0oooon
00000psp(P,t) 0000000%g0.(6:P)0 ¢vopy(t;P)0000O0O0O0O0

542 DO0O0OO0OOOOOODOOOOOODOODbOObDOObDOObDOb
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Yopp(:Plw) 00 0000000000000000000

oot P) = / " e b a(t: Pluyg(u)du, (5.4.8)
oo (t:P) = / " e ot Plu)g(u)du. (5.4.9)

0000g(u) D umax 000000 5.2 () 00 5.2 (b)) 0000000000« 000000 0O
000000000

052000000000 POO0O0O0OO0OOODO00O0O0O0O0O0000000000O000000
0000000000000 52()0000000000000000 52(h)002000000
00000000000 g(w) 000 52 ()00 52(()00000000000000000000
000 g(u) 000000000000

00O00%n0atP)0 ¢opp(P)000000000¢s0.6Pw) 0 oy Ple)000000
00000 ¢g(v) 000000000000000000 (5.48)00 (549 00000000000
0O0oooooo

gbooboobobobooboo

OO0 PODOOODOODOwDOO00O0O0DOO0O0ODOODOOOODOOtODOOOODOOODOODOO P
O000¢t—«w000000000000000000000000000000000 ¢gpa(t;Plu)
O ¢Yqpp(t;Plu) 0000000000000 00O0O00 000000000000 O0ODOODOOO

Yoga(t; Plu) =f(t+u) (to—u<t<ty+a—u), (5.4.10)
Yoop(t;Plu) =f(t+u) (to—u<t<tyo+a—u). (5.4.11)

0000000000000 O0O0D0OD00D 7(Q,Q,) 000000D fH)ODODDOUDDOODDO
goo

00ooooooooooooboboboobobooobo0oooooooooo

052()0000000000000000000000O0O0UO0OO0OO0O0OOOPOO Q,00
0000000000 ¢g(v) DOOD0OD0D0D0O00O0 POODOOOOD 00000 ¢g(w)0D00OOOO
0000000000 Gu) D0ODOD0O0D0O0 Gu)OODODD POOOODODOwODOODODOODOO
0oodooooooooooooodoooooooooD PpO0DO0OD0DO wOO0DODOOODOODO
OPOOO0OOODOOODOOODODOOODOOODOODOODOOODOOODODOOODOODOOOODOOn
gooooooobobbboobbboood

0580000 P(-,0)000000000000D000DDO 580006000000000000
Ooo00ooooood(a) z=0,(b) 2z=0.2R, (¢) z=0.4R, (d) z=0.6R, (¢) z=08R, (f) 2= R
000o0ooonD 8000000 booooDb200b0b0000DoDOooooDoDoOoOon
000000000000 2rad00000OC0O000O0O0OO0OOCO0ODOOOOOO0ODOOOOOOODOO
00000000000 oodooooooDoooO 2rad0 00000000 O0OO0DOODOOODOODO
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00000D000bO0oooooooDooooo 600D 64000 ODODODODODODOOD



54 0O000000O0OO0O0O 93

goobooooboboooobobooobboboooobobooobbo«0bbooonbobbon
gboboobbogoboobobuoobboobboooboooboobbooboooboobn

DO

058 OD0POOOUDODOO0DwOOOOO(a 0; (b) 2= 0.2R; (¢) 2 = 0.4R; (d) z = 0.6R;
(e) z=0.8R; (f) z=R.

©

00 pPOODOOOOOOODODOOO00ODOOOOOODOCOOOOOODPOOOOODDOOOOO
0000000000000D00000 5900 51000000000 52(a)0000000O0O0O0O
0000000000000 00O00000000000000 Gw)OOOUODOODDOODOOO

oooo 5900 5h 100000000000 0DOOLOOO Bp,0O000DOODODOOOOOOO
0000000ooooooo ADDODOOOOUOO000O0O0OoOoOO0OO0 POOOOOOOOOOOOOO
O0o000o0doodoooopPOU0OO0OU0OOU0OO00«wOD0OODOODODODOODOODOODOODOODOOOO
A, 0 ADDO0DOOOOOUOOUOOOOOOOOOOO Gu)OOODODODOOOOD

Ja,en Ja,ea,, 7(Q1: Q2)dQ,1dQ, (0<u < 252
fQQeBDa leeADaT(QI’Q2)dQ1dQ2 - v

0000w0000000 (R2)0000000000000umx=2%&20000

0 (5.4.12)00000000000000000000000000 A0000000O0O 200
000«00000000000000000000000000000000000000000 A
0000000000 (R0)0D0000 (22)000000000000000000000000
0000000000 POOOOOOOO 2000000000000 (R,00 (2,2)000000
00000000000000000200000000000000000000000 5900
00<z<£0000 (5200000000 510000 £<:<RO000(R0)00000
0000000000000 5900 51000000000000000003000000000
00000000000 590000<2<£00000()0<u<2, (b) 2 < —= . (c)
%ﬁgugi?DDD,DﬁmDDD7;§z§RDDDDD&OO§u<%?JM}%Z§u<%,

v

G(u) =

(5.4.12)
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059 00 POOOO0OO0O0OO0DO0O0O0000000000000POO0O0O0000 w0
000000000<z<£000m

1

0510 00 POOOOOOOO0OO00O0O0O0O0O0000000000 POOOOOOO0 w0
000000002 <2<RO0OOM

(c)Z<u< i 0000
0000P(z,0)00000000 «00000000 Qy(re,62) 000 0ovu=20,+ (ro—2) 00
00000ADD0D000D000O0000

0<z<Z£0O0O0O

A={(rs,02)| z<ry<vu+z— 26,0 <y <22} (0<u< ), (5.4.13)
A={(ro,02)| z <ry <wvu+z—20,0<0; <2} (% §U<%)7 (5.4.14)
A={(rs,02)| 2 <7y <R,0< 6y < outz=f}y

U{(rg,ﬁg)\ 2 <rog <ovu-+z— 20, ”“Jrzz*R <@, < 2} (R;Z <u< Rjz). (5.4.15)

2 <z<ROOD

A={(r2,62)] 2 <ry <wvu+z—2605,0<0, <2} (0<u< f2) (5.4.16)
A={(r2,02)| 2 <7y <R,0< 6y < vutz=ll}

U{(r2,02) | 2 <o S vu+ 2 — 20y, 2tz=B < g, < vu} (2 <u< &), (5.4.17)
A={(r2,02)| 2<ry < R,0< 0y < vutz=R}

U{(ra,02) | 2 < 1o < wu+ 2 — 2605, =L < g, <2} (Z <u< i) (54.18)
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0000000000000 0D000O0O0 (b4.12)0000000000O0OOOOODOOO

: 2
()0<u< 2000

1 vu+z—202 o z+dz 0
G(u) = / / / / T(Ql, Qz)r1r2d91dr1d92dr2 , (5419)
hD a(Z) To=2z 02=0 Jri=z 01=05—2
(i) 2 <u< 2000
1 vu+z—2z09 2 z+dz 0
G(U) == / / / / T(Ql, Q2)r1r2d91dr1d92dr2 N (5420)
hD a(z) To=2z 9220 T1=z 9129272
(111) <u<
vu+z R 2tdz
G / / Qla QQ)rlrgdﬁldrldégdrg
hDa 7'2 =z 92 0 91 92 2
vu+2z—204 z+dz
/ / / / (Ql? QQ)TlTQdeldTldengz . (5 4. 21)
vu—i—z R 0,=05—2
(b) ? <z<ROOO

. R—
(o<u<f=poOo

1 vu+z—209 % z+dz 0
G(u) = / / / / T(Ql, Q2)7“17“2d91d7“1d92d7“2 N (5422)
hD a(Z) To= 9220 T1=2 9129272

2=2

(i) =2 <u< 2000

vu+z

hDa /7‘; 2/92 =0
vu

vu+z—26s > z+dz
+ / / / / (Ql, Q2)7“17“2d91dr1d92dr2 s (5 4. 23)
r 0= vu—i—z R 0,=0,—2

2=%2

G(u) =

z+dz
/ / Ql: Qz)rlrgdeldrld%drg
01=05—2

vu+z R

R z+dz
/ / / / Ql, QZ)rlereldrldegdm
To=Z2 02 0 91 02 —2

vu+z—2z02 2 z+dz
+/ / / / 7(Qq, Qp)rir2dfidridbadra | . (5.4.24)
0y= vu+z R 01 =0,—2

To=2z2
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O00Ohga(2)00 (54.12) 000000000000 0O0O0OOOOODO

R 2 z+dz 0
hDa(Z):/_ /0_0/_ /9_9 2T(Q1,QQ)TlTQdQldTldQQdTQ. (5425)

0000000000000 D 7(Q,Q,) 0000000 DODDw0DO0O0ODDOODDOOO
g(v) 00DOD0O0ODOO0OODO0O0DO0OD GO wOOODOODOODOODOODOOOMMODOODOO 5.2 (a)
00000 ¢g(w) 00000000000

0000000000000000000000
0000¢gp.(tPlw) 000 ¢(u)00000000000000 (548)00000000000
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00000 POO0ODOO0OO0O0O00O0OO0OOOOOOODDOOO000000O0O0O0O0O0O000POO
00000¢0PO0Q,0000000+«w00000000000000000 t«000000
0000000000 (541000000 (5.4.12)0000000000 E

E:{(t,u)|t0—u§t§to+a—u,O§u§R+Z} (5.4.26)

v

000000t+w000000000000000
0000000000 51100000e=0.6R/v,z=02RO00MO00000000000O
D00000 gu) 000 [0, umax) 000000000000 000000000000000000
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05110000000000000000000t=¢-&20t=¢t+a00060000
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0000 1000+« 0000000000000000000000000 (A)0DO0 (L)000O0
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05100(A)00(L)D 120000000000000000000000 6000000000
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DO0()t=to— &= (2)t=to+a— =2 B)t=t— L= ) t=to+a— L2 (5)t =1ty — 2,
6)t=to+a—2, (T)t=ty, (8) t=toy+a0000000000
051100000000000000000000 ¢hp.(;P)00000000000DOO00OO0
051100000000 (5.4.19), 0 (542000000 (54.21)0000000000000000
00 ga1(u), gaz(u) D00 gu3(u) 000000000 51100<z<Z000000M

0 (5.4.8)000000 (5.4.10) O

Yona(tPlu) =f(t+u) (lo—u<t<to+a—u)
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u
A
R+z
v
a3 (u)
R, u=—t+to+a
v N u=—t+t
Ga2(u)
22
v
9a1(u) IS SN S VIS N
(i) () @) (Ev) §(v) i (vi)i (vi)
: : : : A\ ; >
to—%to—R;Z‘to—%[ to [ to+a

to+a— 22 tg+a— B2 tg+a— =

v

0511 00DPODOOOODtOPOOQ,0000000w0000000a=0.6R/v,z=
0.2RO00M

__________"__________':j'______

2R/v

05.12 00000000000 0DOO00ODOOO0ODODOOOOODODOODOO0O0O0O00 a-z0000

00000000000 5.1100000000000000000000 Ypp.(t;P)0000O0O0OO
ooooon

(D) _MH_RSZS a

Yop < +ROOD
3 5 z < —va

. R+ R—
(i) to— &2 <t <ty - E=2 D000

Rtz

v

Yooa(t:P) = / £t + u)gas (u)du, (5.4.27)

—t+to
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oo

+z
v

2 <t<tp+a— =&

(ii) to — &

(5.4.28)

<t<tp—2000

R+=z
v

(iii) to +a —

(5.4.29)

ggo

R—=z
v

<tg+a—

2z < ¢
= <

(IV) to —

flt+ u)gaz(u)du

f(t+u)gar (u)du + /2_2

t+to

A=

Yooa(t;P) =/

=)
«
=t
N
3
e,
—~
3
S~—
o0
3
=
—
3
+
.-~
S~—r
S~
3
A__V
<
iy
|

<t<t,0OO

R—=z
v

(v) to+a—

(5.4.31)

—t+to+a
f(t 4 1) gaz(uw)du,

f(t+u)gar (u)du + /2

t+to

A=

Yooa(t:; P) =/

(Vi) tg<t<to+a—2000

(5.4.32)

—t+tota
f(t + u)gaQ (u)du,

J(t 4 1) ga1 (u)du + /2

&

(vil) to+a— 2 <t<ty+aDOO

¢Dma(t3p)

v —

(5.4.33)

—t+tota
Yopa(t; P) = /0 f(t+ u)ga1 (u)du.
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0 512000 (D)000000O000000 ¢Yhp.(;Plv)0000000000OO0OODOOOO
gbobgobogobboobboobooobogn

goboobbooobooooboobboobboooboobDbooboboo

052(bb)000000000O000O00O0O0O0OO0O0UOOO0OO0OOOUOOOPOD Q000
000000000 g¢gw)OODDOOOOOUODOOOOOOODOOOOOOODODDOODOOOOOODOO
000000 PODOUO0ODUO0OwODO0OD g(uv)00D000DO0ODODODODOODOO Guw)ODOO

00 pPpOOCOOOOODOOODOOOOODOOUODOUODOOOOOOO POUODOODOODODOOO
000000000000000 52(b)0000000O00O0O0ODO0O0ODO0OOOOOOO 51300
000000 5130000000000D0000D000 BgyOOODODOODODOOOOOOoooOOO
00000000000 AD0OOODOOODO0DO0ODO0ODO0O0OD GwO ADDODODODODODOODO
googn

fQQEA leeADb 7(Q1,Q,)dQ;dQ,
fQQGBEb legADb 7(Qy, Q2)dQ,dQ;,

O000umx=2000000
000d:00000000000000000AOOOOOOOOOOOO

G(u) = (0<u<2). (5.4.34)

A:{(r2,92)|z§r2§z+dz,0§92§%} 0<u<

=¥

). (5.4.35)

0000000000000 0DO00O0D (b4.34)0000000000O0ODOODOODOOO

z+dz R 0
G(u / / / / T(Ql, QQ)TlTQdeldTldgszQ . (5436)
hD b 62 0 T1=Z 9129272

O000Ohg(2)00 (5.4.34)00000000000000O0O0O0O0O0O0

z+dz
th / / / / Qla QQ)T1T2d91dT1d92dr2. (5437)
62=0 01=0>—2

0513 00O POODOOOOOO0OOODOOCOOOUOUOOOODODO POODODODOOO wO
gboobooooo
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00000 PODOOOODDOOOOODOO0OOOOO0OOOOO0O0ODO00O0000 POO
00000¢0 P00 Q,0000000«000000000000000000000000 t-u
0000000000D00000 (54.11)0000 (54.34) 0000000000 E

2
E:{(t,u)|t0—u§t§t0+a—u,OSUS—Z} (5.4.38)
v

ooooooo
00000000000 00000000000 g(uw)000we(0,2)00000000000
000000000000000 514000 200000000e<2 00000 5.14(a)0000
O0e>200000 5.14(b)0000000000e->0002000000000000000
0000000000 515000000

0 (549000000 (5.4.11) 0

Yoou(t;Plu) =f(t+u) (to—u<t<to+a—u)
0000000000y, ,,(:P)000000000000

2
(a)a< 2000
v

: 2 2
(to—Z<t<to+a-2000

2z
v

oot P) = / £t + w)g(u)du, (5.4.39)

—t+to
(i) to+a—22 <t <ty 000
7t+t0+a
Yooyt P) = / ft+u)g(u)du, (5.4.40)

—t+to

(iii) to <t < tp+a 000

—t+tota
Yooyt P) = /0 flt+u)g(u)du. (5.4.41)

2
(b)a>=—=000
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(i)to—Z <t<t,OOO

2z
v

oot P) = / £t + w)g(u)du, (5.4.42)

—t+to

(i) to<t<to+a—2000
won(P) = [+ wglu)du (5.4.43)
0
(iii) to +a— 2 <t <ty +a000

—t+tota
Yoop(t; P) = /o ft+u)g(u)du. (5.4.44)

2z 2z
T H H H

u=—t+to+a

u=—t+to
5 > ¢
to — 5% to T to+a
to-‘ra—%z
(b)

0514 0DOPOOODOOOtODPOD Q, 0000000 w000000O

>

05.15 00000000 00O00DO00D a-z000
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00000 QU000 Q,000000000oooo0odooooooogooooooooooo
gooboobobooboboobboobo

N

NQDQQZGEQ; (5.4.45)

00000000000oU0OoOd Jte,to+e000000OOOODO

£(t) = 2 (to <t <to+a). (5.4.46)

000000000000000000000000000
0 (5.4.19), 0 (5.4.20)0000 (5.4.21)000 (5.4.22), 0 (5.4.23)0000 (5.4.24) 00000
00000000000000000000000000000000000000000000

R
(a)0<2z< 5000

(—vdut + 4o3 203 + 24022202
0< 2z
s 0<u<®),
3vu? 4 2uzu — 222 (2_2 L sz)
Glu) = 3(R? — 22) v = v (5.4.47)
1 4,4 3 3 2 2 o 9
m [U ut — 4vizu® — 6v*(R* — 2%)u
+4v(2R — 2)(R + 2)%u — 3R* — 8R%z + 18R%2% — 2321] (&2 <o < £F2),
(b) £<z<ROOO
_U4U4 —l—4v3zu3 +247)2Z2u2
< R—z
2422(R2 _22) (0 u < B )’
; [—GUQ(R—F z)u2
Clu) — 2422(R + z) .
(u) = +4v(522+5Rz+2R2)U+7z3+7R22f11R22—3R3] (R;z <u< %)’ (5.4.48)
1 4,4
SiE ) W w0t — 6o (R — 2
+4U(2R-Z)(R+Z)QU_BR4_8R3Z+18R222_232:4] (%}—Z <u< R;'Z)

O0000«w000000000 g(v)0D0D0DO0O0ODOOODOO
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R
(a)0<z<f000

(

—vtd + 303202 + 1202220 (0<u< ),
622(R? — 22) )
6v2u + 2vz 2z e
g(U) 3(R2—2’2> (v Su< v )7 ( )
U4U3 - 31}32u2 _ 3U2(R2 _ 22)u -+ U(2R - Z)(R + 2)2 (sz <u< R+z)
\ 622(R? — 22) .

(b) £E<z<ROOO

—v*ud 4+ 303202 + 1202224

622(R? — 22)
—3v%(R+ 2)u +v(52? + 5Rz + 2R?) R )
_ —x gy < 2 5.4.50
g(u) 622(R+2) ( v Su< v)’ ( )
viud — 3v3z2u? — 303 (R? — 22)u + v(2R — 2)(R + 2)?

622(R? — 22)

gobooboboooboooboboooboooo

000000000000 5120000000000 12000000000000000 (5.4.8)
0000000000000 000000000D0 ¥opa(t;P)00000O00O0OOO0ODOO1200
0000 ¢¥gp.(t;P) 000 A10D0O00DO

go00o000o0o0o0o0oU0oooooooooooogogggog
O (5.4.36)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD G(u)
Oooooogoooooo
2.2
—v°u® + 4vzu
Glu) = = (0<us ). (5.4.51)
O00«0oooggoggg g(u)DDDDDDDDDDDD
—v2u + vz

gw) = — 73— (0<u< ). (5.4.52)

gbobgdboogoboobobuoobboooo
00000000000 (49000000000 ¥gop(:;P)00D00O0ODOOODOOOO

2
) ae<Z 00O
v

: 2 2
Hto—Z<t<to+a-2000

(vt + 22 — vtg)?
4az? ’

Yoob(tP) = (5.4.53)
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. 2
(ii) to+a—Z <t<toOODO

v(2vt 4+ 4z — va — 2vty)

Yoob(t; P) = 2 ; (5.4.54)
(iii) to <t <tg+a00O
v(t —tg — a)(va + vty — vt — 4z
wDDb@;P)::( 0 )(4a22 0 ). (5.4.55)
2
(b)a>=—=000
v
(i)to—Z<t<t,OOO
vt + 22 — vty)?
¢Duk(t;P)::( o 0) : (5.4.56)
(i) to<t<to+a—2000
1
Yoon(t;P) =7 (5.4.57)
ifi)to+a—2<t<ty+aO0O00O
(iii) -
t—to— to — vt —4
Yooyt P) = fo —a)(vat vty - vt = 47) (5.4.589)

4az22

55 000000 OUOogn
551 ODOODOOOO

00000000000 0000000000000000000000000000000000
pop(P,t) 000 poo(P,4) 0000000000 POOOOOOOOOOOOOOOOOOOOOO
000000000 ¢y (P) 000000000 ¢ug(;P)000000000000000000
000000000000000000000

poo (P,t) =quo (P) - Yoo (1 P), (5.5.1)
poo (P,t) =qoo (P) - Yoo (£ P). (5.5.2)

00004¢gs (P)000 ¢ (P)00000OOOO0

552 ODOO0OOO0O0OOOOODODOOOODOODDLOObDOObDOODbDOO

000000000 7(Q,,Q,) 0000000 f(+)000000000000000000000
000000000000000000300000000000000
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00 POO0O0OOOOOOOOOOOOOOOOOOOOOOOOOOOOOPOOO00000
00000 «w000000000000000000000000 ¢qg(6Plw) 000 ¢qq (& Plu)
000000000 ¢qp(P)0 ¢pp(:P)00000000000 ¢np(&Plu) 0 ¢op (6Pu) O
000000000000000000000

Yo (t:P) = / " e (6 Plu)g(u)du, (5.5.3)
Yoo (t:P) = / " b (6 Plug(u)du. (5.5.4)

0000g(u) 00000 «0000000000umx D0 «0000000000000000000
¢g(u) 000000000000 D0000D00000000000 ¢g(u) 000000000000

0000%yn(5P)0 ¢pp (P)000000000v%y (5Pu) 0 ¢gp (G Pw) 00000000
000 ¢(v)000000000000D000000 (55.3)00 (5.54)0000000000000
000000

gbooboobooboboboo

OO0 PODOO0ODOODOwDOO00O0O0DOO0OODOODOOOODOOtODOOOODOOODOODODO P
000 t¢t—«w000000000000000000000000000000000 4¢gp (&P|uw) O
Ypp(t;Plw) 0000000000000 0O00O00 w000000O00DO0OO0ODOOOOOO

Yoo (G Plw) =f(t+u) (to—u<t<ty+a—u), (5.5.5)
Yoo (G Plw) =f(t+u) (to—u<t<tyo+a—u).

0000000000000 000000 71(Q,,Q,) 0000000 f)ODODDOOOODDODOOO
goo

gobooboboobobooobooobooboboooo

054(a)00000000000000O00O0O0O0OO0OO0OO0OO0OO0OO0OO g(uw)OOOOOO
0000 POOOOO0ODwOD0OO0O0¢g(vw)0DODODOUODOOUODODOOOO Gu)OOOOOO
00 Guw)ODODO POOOOODODwO0D00O00O00O00O0O0OO0DODOODOOOOODOODOODOO
oooooooopPOOO0OOO0OOwO0ODOOOOOODOO0D POODOOODDOODOODOODO
goboobooobooobuoooboobooobooboboobooobooonon

0o pPOODOOOOOO0OODODOOO0ODOOOOO0OODOOD POOODODOOODODODOOOOO
00000000000 54 (a)00000000000O00O0O0ODO0ODOO 5160000000000
0000000 GuwyOOOOOOOooooo

oo0oo sl60000000DOOOODODOOOO BpOOoOOUODOOUOOODODUODODDbDOD
00000000000 AD0ODO0OO0ODOOO0ODOO0ODOO0ODOO0OD GwOOOoOOUOooOOoooDOoo

- fQQGA leeAD T(Qla QZ)dQldQZ

G =
) szeBu leeAu 7(Q1,Q,)dQ;dQ,

(0 <u< itz (5.5.7)

v

O00Dum = 222000000

v
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0516 0OO0OPOOUODOUOODOOOODODODOOOOUOOODOOODOUODODOOD POOOOO
b «00ooboobogon

OO ADOOOOOO0O 51600000000 POODODOOOOODOO0O 3000000000
0000000000000 0000 AODODOO0OOoOOoo UZ%DDDDDD (2,2) 00000
vw=20000000000000000000000 5160 (a) 0<u< %, (b) 2<u< 2, ()
22 <y < B2 Qg 3000000000000000000000000 5.16 (a), (b), () 0000
OO0 A00O0OO00000D0O0000000000 AODODOO0O0L6,<70000 AqOO0O0O0DO
000000000M0000P(2,,0)0 00000000 «w00000000 Qu(re,6)00000
00 2rad0000000vu=(2—12)+m0 00000000 2rad0000000 vu=2z2+41ry0
OO00000A 0000000000000

:{(rz,az)! =t <1y < 2,0< 6, g%} (0<u<2), (5.5.8)
A ={(ra,02) | 0< 1y < 2,0 <y <2}

U{(T2’92)|0§ <R, <0, < }

U{(r2,02)| 0 <7y <wvu—2,2< 6 <7} (2 <u< ), (5.5.9)
Ay ={(r2,02) | 0< 1y < 2,0<6; <2}

U{(r2,02)[ 0 < 7o <wu—2,2< 6, <7} (& <u< ) (5.5.10)

000000000U0D0U0DOU0DO0OoOo (bbSh7)UOO0O0ODO0OULOUODDOUODOUODOOOOOOO

(0<u< 2000

G(u) = hDD [/m_

/ / / 7(Q1, Qa)rir2dbidridbadrs | (5.5.11)
0,=0 6, =

2 z % R de
G(’U,) = / / / / T(Ql, Qg)r1r2d91dr1d02dr2
hD O (Z) ro=0 9220 T1=Z 9120

71 2 R de
+ / / / / T(Ql,QQ)rlrgdﬁldrldHerz
r2=0 0= Jri=2J0,=0

vU—2 s R de
+ / / / / T(Ql, Q2)r1r2d91dr1d92dr2 , (5512)
r 6 r 0
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(i) 2 <u< £2 000

G(U / / / / LQ, 7’17“2(191(?17"1(2192(17"2
hDD ro=0 J0,=0 0, = 2 Q
/ / / / 7(Qq, Qy)ri72dfdridbadrs | . (5.5.13)
ro=0 0o=2 0=

O00Ohpg(2)00 (5.5.7)000000000000O0OO0O0OOOOO

hoo (2 / / / / T7(Qq, Qg)r172dfdridbadrs
ro=0J02=—2Jr1=2 Jb,=

27 —2
/ / / / 7(Q1, Qq)rir2dfidridadrs. (5.5.14)
To= =0 9 91_0

00000000D000000 7(Q,,Q,) 00000000000 «000000000000
¢g(v) 00000000000000 G(uv)D «w00000000000000MO0000 5.4 (a)
00000 ¢g(v) 00000000000

00000000000000
0000000000000 ¢gp(;P)00000000000000000004vgp(4Ple)00
0g¢w)00000000000000 (553)00000000000000000000
00000 POOOOOOOOOOOOOO0OOOOO0OOOO0O000O0OO000 POOOOOO0O
t0 P00 Q,0000000«w0000000000000000000 (5550000 (5.5.7)
0000000000 E

R
E—{@ﬂduo—u§t§m+a—u,0§u§ '+Z} (5.5.15)
v

000000+ 000000000000000
0000000000 51700000e=12R/v,2=04RO0000M 0000000000 30
0000000000000000000000000000000000000000(@G) 00 (vii)
07000000000000000000
000000000000000000000000000000000000000000000
0000000004 —2,t— 2, tg+a— B2ty ty+a— 2, ty+a—20 600000000
000000 (a,2) 000000000 9000000000090000000000000000
Yop (K, P)0000D00000O0O
05180 2000 90000000000000000000000000000OO0 (A)O
0000000000000 51700000000 518000 (H)DOODODOODOOOO
05200(A)00 ()090000000000000000000000 6000000000
00000 5200000000 t=¢t—&=2000000¢t=¢t+e¢0000008000000
0001) t=to— B2 (2)t=to+a— 82 3)t=to— 2, ) t=tg+a— 2, (5)t=1ty— 2,
6)t=to+a—2, (T)t=ty,(8)t=ty+a0000000000
051700000000000000 ¢yp(;P)0000000000000O00O0O0O00O0 5.17
00000000 (5.5.11),0 (55.12) 0000 (5.5.13)000000000000000 gar(u),
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u=—t+to+a
/
u=—t+to

SEEN

Y
~

to+a
to—l—a—%

0517 00D POOOUOOODtODPUOOQ,0000000wO00D000O0a=1.2R/v,z=

04R OO0
A
R i
E i
( L—va (G) i
z=—-va+ R i
2z =Y z=wa— R}
(F) : !
D) d i
o= 2 (H) i
(C) (A i

Y
S

2R /v

0518 000000000000 0O0OOO0OO0O00O0O0O0O000 e-z000

Ja2(u) 000 ¢o3(v) 000000 D0O0OO 51700000000000000 ¢Ypp(;P)0D00ODO
gobogoooogno

R
(H)va—RSzS%DD 2 <eno0
v

: R+ 2
(1) to— &2 <t<ty— 2000

Rtz

v

oo (1:P) = / £t + u)gas(u)du, (5.5.16)

—t+to




55 00000000000 109
052 051802000000 000000DODOODOO
A) ] MH=0B)=2=06)=(7)=4=(06)=08)
B) | MH=2)=0B)=06)=((7)=4)=(6)=(8)
©C) | M=2)=0B)=06)=#)=(7)=(6)=(8)
D MH=2)=0B)=4=(()=(6)=(7)=08)
E) | 1H)=06)=02=4=(06)=(06)=(7)=08)
) | 1)=06)=2=06)=#=()=(06)=(8)
(G) | MH=0B)=06)=2)=4=(7)=(6)=(08)
H) || 1) =B)=0)=2)=(7)=4) =(6)=(8)
O | OH=06)=06=0=2)=4=(6)=08)
(i) to— 22 <t<ty—2000
Yop (G P) = /—t+t0 ft+u)gaz(u)du + /21_12 f(t+ u)gas(u)du, (5.5.17)
(i) to— 2 <t<to+a— 2000
Yog (6P) = /_t+t0 f(t+ u)gar (u)du + /% f(t+ u)gaz(u)du
+ / F(t + 1) gas (u)du, (5.5.18)
(iv) to+a— B2 <t <t,000
dooEP) = [ f(ttugmdu+ / £t + wgaz (w)du
—t+to+a
+ /_ F(t+ 1) gas (w)du, (5.5.19)
(V) to<t<tg+a—22000
oo (P) = [T 1+ wgnadu+ [T 1+ wga(d
—t+to+a :
+ /2_2 f(t+ u)gas(u)du, (5.5.20)
(Vi)to+a—2<t<ty+a—2000
z —t+to+a
Yop (6 P) :/0 f(t+ u)gar (uw)du + / f(t+ u)gaz(u)du, (5.5.21)

Z
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(vii) to+a— 2 <t<ty+aO00O

—t+tota
Yoo (6 P) = / F(t+ ) gar (u)d (5.5.22)

00000000000000000000000000

054 (b)00000000000000000O0D000000PO0 Q00000000000
0g¢()0000000000POOOOODD0Dw00000 ¢g(w)000000000000000
0 G O0000

00 POOOOODDOOO00000O0O0O0OOOOOO00 PO0O0OOOOOOOOOOO000
00000000000 54 (b)0000000000000000000000 5190000000
051900000000000000000 B;000000000000000000000000
00000 ADDODOOOOOODOOO0OOOOOD Guw)0 ADOODODOOOOOOOO0O0

fQ26A leeAD 7(Q,Q2)dQ,dQ,

G =
) fQQEBD leeAD 7(Q1, Q2)dQ,dQ,

(0<u< £2). (5.5.23)

v

D00 Dumex =2£2000000

0519 0O POODODODOOOOOODDOOOUOODODOOOODODOD POOOODODODO w
gbogooooooo

O000de00000000000000000AOOODOOOOOOOOO0

A={(r2,02)| z<ry < z4vu,0< 0, <dp} (0<u<=2) (5.5.24)

00000000000000O00000 (b5.23)0000000DO0O0ODO0O0ODOO0ODOOO

z+vu P 2
Gl = / / / / 7(Qy, Qg)r17r2dbdridfadrs
hD D 02= r1=0J60,=—2

z+vu 27 —2
+ / / / / 7(Qq, Qq)rir2dfdridfadry | (5.5.25)
ro=z Oy= ri1=0J6,=

O000Ohgpg(2)00 (5.5.23)00000000000000O0O0O0O0O0OO
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R de z 2
hD 0 (Z) :/ / / / T(Ql, Q2>T17"2d91d7”1d92d?“2
To=2Z2 9220 7‘1=0 91272

R de R 2w —2
+ / / / / T(Ql, QQ)’I“lTQdQld’I“ldQQd’I“Q. (5526)
To=Zz 9220 7'120 0

1=2

00000000D000000 7(Q,,Q,) 00000000000 «000000000000
¢g(v) 0000000000 0000 Gu)0DwD0000000000000MO0000 5.4 (b)
00000 g(v) 00000000000

ooooobooooooooo

0000000000000 ¢ (:;P)000000000O00O00O0O0O0OO0OYp(;P)OOO
g(v)DO0O0O0O0OUODOODOODOOD (b54)00000000O0DOOLOOUDOUDODOO

00000 pPOOOO0O0ODOOOO0OODOOOO0OODODOOOOODODOO POOOOOOO
t0POD0 Q, 0000000 «0000D000000DO0DO0ODOODOD (5.5.6)0000 (5.5.23)
gooooooogoo k

R—
E:{(t,u)|t0—u§t§to—|—a—u,O§u§ Z} (5.5.27)
v

000000+« 000000000000000
O0000000000000 g(w) 00D [0,£2)000000000000000000000
00000 520000 200000000e< 2200000 520(.)000000a>E=2000
00 5.20 (b)) 0000000000e20002000000000000000000000000
0521000000

0 (55.4)000000 (5.5.6) 0

Yoo (GPlw) =f(t+u) (to—u<t<ty+a—u)

0000000000y p(;P)D0D00ODO0OOO0OOODO

R—=z
goo

(a) a < ”

() to— =2 <t<ty+a—E2000

R—=z
v

Voo (£ P) = / £t + w)g(u)du, (5.5.28)

—t+to

(i) to+a— B2 <t<t,0OO

v

—t+tota
Yoo (6 P) :/ flt+u)g(u)du, (5.5.29)

—t+to

—t+to+a
Yoo (1 P) = /0 F(t + u)g(u)du, (5.5.30)
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R— =z

(b) a > 000

v

(i) to— E=2<t<t,000O

R—=z
v

Yoo (6 P) :/ flt+u)g(u)du, (5.5.31)

—t+to

.. R—
(ii)to<t<to+a—L=000

R—=z
v

Yog (4 P) :/ f(t+u)g(u)du, (5.5.32)

0

(iii) to +a — 2 <t <tg+aO00O

v

—t+to+a
wDD@;P):iA F(t + u)g(u)du. (5.5.33)

0520 DOPOOODOOOOtOPOUD Q,UO00D000w0D0DOODOOO

553 0DOO0ODOOD0OOOOOODODOODOOODODOODODODOOO
oooo00 Qo000 Q,000000000000000000O0OO0O0000000O0BOO0OO
gobooboooooboooboobo

N

T(Q1,Qy) = RO (5.5.34)

00000000000000 Jte,to+e0000000O0ODOODO

f@:% (to <t < to+a). (5.5.35)
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z=—va+ R (B)

>

0521 DO0DOOODOOOOOOODOOOD a-z000

gbobooobbgobobogboboooobg
O (5.5.11),0 (5.5.12)0000 (5.5.13) 00000000000 DO0O0ODODOO0ODOO0ODOOODOO
gooooboogoo

2,2

222 TET:“L 2)R? O<u<3),
G(u) = (m = 3)v?u? + (8 — 2m)vzu — (4 — m)2? (2 <u< i), (5.5.36)

222 4 (m — 2)R?

(m —2)v2u? — (27 — 4)vzu + 722
L 222 + (m — 2)R?

0000 «w000000000 ¢g(w)0DOODOODOODOOOOO

;

202U
222 4+ (m — 2)R? ( )
7 —6)v2u —2m)vz
o) = { Bt CF00 (2 cucz), (5.5.37
(27 — 4)v*u — (27 — 4)vz (
222 + (m — 2)R?

00000000000000

000000000000 5180000000000 9000000000000000 (5.5.3)0
0000000000000000000000 ¢sp&:P)000000000000009000
Yoo (P)000 A2000000

J00ooo0ooooooooooooon
0 (55.23)000000000000000O00O0O0ODOOOOOOOOOOOODOODOO
v2u? + 2uzu

Glu) = ———5— (0<u<

hoz). (5.5.38)
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000 «w000000000 g(u)D00000O0O0O0ODOOO

g(u) = % (0<u< f22). (5.5.39)

gooooboooboooon
00000000000 (5.54) 000000000 Yp(;P)DOODOOODOODODOOO

(i) to—E2<t<tp+a—E2000

v

R? — (vt — vty — 2)?

t;P) = 5.5.40
Q[)DD(7 ) a<R2_Z2> ’ ( )
(i) to+a—-E2<t<toDOO
v(2vty — 20t + 2z 4+ va
(iii) to <t < tp+a 000
v(t —tg — a)(vt — vty —va — 2z)
t:P) = . .5.42
QpDD(a ) CL(RZ*Z2) (55 )
M a>2"2000
v
(i) to— E=2<t<t,0O0O
R? — (vt — vty — 2)?
t;P) = 5.5.43
77bD|:|(7 ) a(RQ_ZQ) 9 ( )
(i) to<t<to+a—L=2000O
1
Yoo (6 P) =2 (5.5.44)

(iii) to+a— B2 <t <ty +a000O

v

oy Ut =t —a)(vt — vty — va — 2z)
Yoo (5P) = 2 i ZQO) : (5.5.45)
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56 00000O0O0O0OOOOOOOOO

gbobobobobooboooooooboobobobobooooooooboobobobobo
g00ob0oobobooobOoobDboooboobDooog se61000Db0O0OD0DbOOO0DOODDOOO
gooos620000000D00D0ODODODO

ocoboooobbboooboooboobboooobbDbOoUoUobOUbLO0D 2ROODUDbDOO
2R/v=20000000000000000000000000DO0ODOOODOOt=000000D0
tpy=20000000000000 R=100000000 N=100O0O

5.6.1 ODOODOODOOODOO

00000000 pp(P,) 0000000000000 ppp(P,)D0000000O0O0ODOO0
pop(P,) 0000000000000 O0OOOOO pp(P,y)0000D0O0O0OO0O0OOOODOOOO
gD DD DD O
0000000000000 D0O0000D t=2000000000000000D0 [2,3)00000
0000000000000 000000000D0000O0D0DO0ooOo0oOoOtte(0,2)000OO
00000000 te(0,3|00000000O00DOODOODODODOOOO

goooooog

0 52200000000000000000000 py((P,t)00000O0O0O 5230000000
goboooboobobooobbooboboobbooooboobbuoooboobbooboboon
oobooooooooooboooboooooboobooDbDooooobobobOoD t=160000
gooboooboobboooboobbooobooobooboboooboobboooboon
gooogooo

0 52400000000000000000000 py(P,)0D0000O0O0 5250000000
000000oDo0oDoO0 te=2000000000000000000D000DO0O0ODOODODODO
goobooobooboboooboobbooobooobooboboooboobbooboboon
t=200000000000000000000O00ODOOOOO0OODOODO

gooooobooooon

05260000000000000000000000000 pop(P,t)D000ODOODO 5.2700
gooobooobOoboUoboUopoOoboUoboUobOobboUooUODbOt=10000b00OU0b0ODODO
obooooon

0 5280000000000000000000000000 pup(P,t)D0D0O0DOD0O 52900
gbooboboooooooboboooot=1e6000000D00O0O0O0O0ODOD tp=20000
gboboooboogoo

gooooobooooon
0 53000000000000000000000000O00O pop(P,t)D00O0O0O0ODO 53100
00000000000000O0000DO0000DO(l)0D0D0DO00O0D0D00DD0OO0O0O0DOODOO
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0 0.5
t=18 * 1

0522 00000000 pp(P,)0000O0Ot=200000000M@™
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0524 DO0ODOODOO0OO pu(P,y)0000DDOO0OD [2,3]00000D000M@™M

0 (2)0000000000000000 R/AOIODODUOOODOOOOODOOOOUDOODOODOO
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goobooobooboboooboobobooobooobooboboooboobbooboboon
gooooobgooog
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0 5320000000000000000000000D000 pyp(P,t)0000O0ODOO 5330
00000O0o0b0o0oo0ooDoooDoooDoooDo0oDOO00D ty=2000000000D00DO0O
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